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The table below presents the percentage profit earned by two companies A andﬁrdgﬂgﬂ

al Exams Guide

period 2013 to 2018. Based on the data given in the table. answer five questions that follow
Yearwise percentage (%) profit

% Profit Earned

Year

A B
2013 20 % 35 %
2014 32% 30 %
2015 40 % 50 %
2016 25 % 40 %
2017 30 % 30 %
2018 15 % 40 %
[Wthiero ik B = {Income—EX;.:-end.lture} +100]
Expenditure
Sub questions

Question Number : 1 Question Id : 61547511364 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the expenditure of company B in the vear 2013 was ¥ 17 lakhs, then what was 1ts incom
in that year?

(1) T 22.95 lakhs (2) ¥ 23.15 lakhs
(3) T 24.50 lakhs (4) ¥ 25.65 lakhs
Options:

E1547544201. 1
E1547544202. 2
51547544203, 3
51547544204, 4

Question Number : 2 Question Id : 61547511365 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

If the income of company A in the yvear 2017 1s ¥ 26 lakhs. then what 1s the expenditure

company A 1n that vear?

(1) T 33.8 lakhs (2) ¥ 22.5 lakhs
(3) T 21.6 lakhs (4) % 20.0 lakhs
Options:

E1547544205 1
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If the sum of expenditure of company B 1n the vears 2014 and 2017 together i, ;mﬂh

Your Personal Exams Guide

then what 1s the total income of company B in these two vears together?

(1) % 62.4 lakhs (2) ¥ 36.2 lakhs
(3) ¥ 64.0 lakhs (4) ¥ 65.5 lakhs
Options:

E1547544209. 1
E1547544210. 2
51547544211, 3
61547544217 4

Question Number : 4 Question Id : 61547511367 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which vear 1s the ratio of income to expenditure of company A the maximum?
(1) 2013 (2) 2017
(3) 2015 (4) 2018

Options:

61547544313,
61547544314,
61547544215,
61547544216,

o LIPS

Question Number : 5 Question Id : 61547511368 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the expenditure of company A in the yvear 2013 and company B in the vear 2018 are tl

same. and the income of company B 1n the yvear 2018 1s ¥ 77 lakhs. then what 1s the 1ncon
of company A 1n the year 20137

(1) T 55 lakhs (2) ¥ 66 lakhs
(3) ¥ 56 lakhs (4) % 64 lakhs
Options:

E1547544217. 1
61547544218, 2
61547544219 3
61547544320, 4

Ohiectinn ld - R1IBA7R112R2 ODiiectinon Tvne: COMDPREHENS<ION <sih Oiiection Shiifflina Allowed - Vee Croinin Comnr chena nn
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- HATSd % =g
oy
A B
2013 20 % 35 %
2014 32 % 30 %
2015 40 % 50 %
2016 25 % 40 %
2017 30 % 30 %
2018 15 % 40 %
. (3 - =59
G AL L — % 100
Sub questions

Question Number : 1 Question Id : 61547511364 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Ifg 79 2013 ® o1 B 1 =99 %, 17 @@ 91, a1 39 79 55t 2317 Rt o ?

(1) % 22.95%4 (2) = 23.15 9@

(3) ¥ 24.50 9@ (4) % 25.65MF

Options:

61547544301, 1
615475443202 2
61547544202 5
61547544204 4

Question Number : 2 Question Id : 61547511365 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If2 a9 2017 9 Fot A 1 A 5. 26 @NG 2, 91 39 I F A F =27 w27
(1) % 33.8om3 (2) % 22574

(3 %, 21.6 =E 4y % 20,0913
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Correct Marks: 2 WrongMarks: 0 'repp

Ifg =9 2014 3R 2017 H Hoi B = =/ =il %o UEI T, 48 @@ 7, °f 51 941 a9 4 A B i Fe o
et 27

(1) %. 62.4 =g (2) =. 36.29m@
(3) %. 64.0 =g (4) =% 6b.0@@
Options:

61547544309, 1
E1547544210. 2
51547544211, 3
61547544212 4

Question Number : 4 Question Id : 61547511367 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 2013 i Z0EF
(3) 2015 (4) 2018
Options:

615475442131
61547544214, 2
61547544215 3
E1547544216. 4

Question Number : 5 Question Id : 61547511368 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Iia 99 2013 H FO1 A 1 =9 AT A9 2018 F FA B = =94 HHE 7, AT A9 2018 H FA B i #
%, 77 @@ 7, @ 99 2013 ¥ FA A Fi 97 el 27

(1) %, Db @™ (2) = 66wmg
(3) %. 06 =™ (4) % 644
Options:

615475442171
61547544318, 2
E1547544219. 3
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Consider the example of anumana given below :

(a) The mountain 1s fiery
(b) Because 1t has smoke
(c) Wherever there 1= smoke, there 1s fire.

Which one of the following expresses Vyaptl (relation of invariable concomitance?

(1) The relation of invariable concomitance between mountain and fire

(2) The relation of invarmahle concomitance between mountain and smoke

(3) The relation of invariable concomitance between fire and smoke

(4) The relation of invariable concomitance between perceiver and the smoke
Options:

E1547544221. 1
61547544322 2
61547544323 3
61547544324, 4

Question Number : 6 Question Id : 61547511369 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

SAA = w24 # A By v Tgmm e fifse
(@) Tda AT F
(b) AR == IHAT 7

(c) I g3 =1 7, 9= AR =4l B

frfeatiaa 9 5 #9 =1 2=Em =0 (Fad @ # H9a) w1 A= w0

(1)  Ted =1 a4 % 797 Faa gre=d w1 Fag (2) U494 3R 90 % 99 499 G w5 gey

(@ i o gt wen e w W EAT (4) s SR qd F e fr wwed w ae
Options:

61547544321 1

E1547544=522 2

E1547544325 5

ey g g e p— 3 3 g——
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If income of X 1s 20% more than that of Y and income of Y 1s 25% less than that 1! E%ﬂl
total income of X, Y and Z are in which of the following ratios? e

(1) 18:15: 20 2y 18:15H:10
(3) 18:10: 15 (4 18:12:15
Options:

61547544325 1
E1547544326. 2
B15475442327. 3
615475442325, 4

Question Number : 7 Question Id : 61547511370 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Ife X 1 5= Y 1 2 =@ 20% w9E1 2 HAR Y # w2 E H 25% A B, a1 X, Y ¥R Z A g
AT =1 FrtetEd 3 8 F9 9aeE 27

(1) 18:15:20 2) ) 18215:10
(3) 18:10:15 (4) 18:12:15
Options:

B15475445325. 1
61547544326, 2
61547544327, 3
61547544325, 4

Question Number : 8 Question Id : 61547511371 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a class, there are 60% female students and the remaining are male. 40% of the fems
students and 70% of the male students have opted for the research methodology course. If
all. 60 students have not opted for the research methdology course. which of the following
the total number of students in the class?

(1) 120 2 125

(3) 130 (4) 140
Options:
61547544329,
61547544330,
615475443351,
61547544332,

[ N

Nt trmd mm Al vl mtr 2o O M\ 1mrd i miem 1 Al s A A1 1971 £\ s omiem T i vemm s AA LYY AN bk omiem OOl L€l cmma o NImn N el ome s Ny s e Ny vemm b e 0 A7
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2| 9t |9 9 = 60 T A g Ui =TT T8 T4 2 a7 B § Fel o i 2 fHeieigd 5 9
27

(1) 120 2 125

(3) 130 (4) 140

Options:

E1547544329. 1
E1547544230. 2
51547544221, 3
61547544237, 4

Question Number : 9 Question Id : 61547511372 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Three taps A, B and C can fill a tank 1n 8. 10 and 12 hours respectively. The tap A 1s open ¢

the time continuously. But taps B and C are open for one hour each alternately. How lor
will it take the tank to be full?

(1) 4 hours (2) 4E hours
27
2 1
(3) 4§ hours (4) 45 hours

Options:

61547544233, 1
61547544334 2
61547544335 2
61547544336 4

Question Number : 9 Question Id : 61547511372 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

a7 A, B 3 C v 2% =1 w9 8, 10 371 12 92 § 9 &hd 2 | 7o7 A 57 999 Had B9 H gl §
2| 9 79 B it C faeua: vh-u% 92 % fu ged 2 | 3% =1 g 9 WA | e @eg e

4 16 =
(1 4 =2 2) 4_— uZ
‘ ¢ 2T
2 - 1 .
(3 4— ¥ (4) 4— 92
) 3 4) 3

Options:
CACATCAATTD A
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Montreal protocol was signed in order to address which of the following emgat
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1ssues?
(1) Tropospheric ozone pollution (2) Depletion of ozone 1n the stratosphere
(3) Global warming (4) Acid rain

Options:

E1547544237. 1
61547544228, 2
61547544235, 3
615475442340, 4

Question Number : 10 Question Id : 61547511373 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Hifeget Wik 9 Fefeiigd O ° e aEE g9l qE81 % a9 = foe seen T o 90

(1) R A T (2) TR A s AP
(3)  TETES AT (4) itz = (s 9u)
Options:

61547544337, 1
E1547544228. 2
E1547544239. 3
51547544240, 4

Question Number : 11 Question Id : 61547511374 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following factors is a deterrent for the students to do well in higher

education?

(1) Political orientation (Z) Academic strategies
(3) Comprehension ability (4) Academic discourse
Options:

E1547544241. 1
E1547544242 2
51547544243 3
615475442344, 4
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feanfiat s e g freri o i 277 prepp
(1)  TTs-as 9= (2) TFIEMHEE O
(3)  FEg T (4) RS famel

Options:

615475442411
615475442342 2
61547544343 3
E1547544244. 4

Question Number : 12 Question Id : 61547511375 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Schistosomiasis, a common water contact disease, 1s spread by whach of the following?

(1) Giardia (2) E.Col
(3) Cercaria (4) Amoeba
Options:

61547544245 1
61547544246 2
61547544347, 3
61547544345 4

Question Number : 12 Question Id : 61547511375 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fozifomnfon =1 & ot & 9us § w9 § 2F el vF g #iget 2, Fefanag § O ey e 27
(1)  Frnfe (2) 3. =S

(3)  FHET (4)

Options:

E1547544245. 1
61547544246 2
61547544247, 3
615475443458, 4

Py . o . e o~ e . - e ot = A=A A o~ — o~ =~ . — A e o~ e . — PR— o — . N o
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61547544350, 2 prepp

6 1 54?54435 1 . 3 Your Personal Exams Guide
61547544352, 4

Question Number : 13 Question Id : 61547511376 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Ffeafiga § ® 10T 9797 =t S e o 0 T aeAT ] I i TEE i

(1) = S (2) ¥HF g== TGO
(3) =TT HEEw (4) T T
Options:

61547544245 1
61547544350, 2
61547544351, 3
E1547544352. 4

Question Number : 14 Question Id : 61547511377 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the correct sequence of one way process of communication. from the followir
sequences

(1) Sender, Decoding, Message. Channel, Encoding, Recelver
(2) Sender, Encoding. Message. Channel. Decoding. Recelver
(3) Receiver. Encoding. Message. Channel. Decoding. Sender
(4) Sender, Message. Decoding. Encoding, Channel. Recelver

Options:

61547544353 1
61547544354 2
61547544255 5
61547544356 4

Question Number : 14 Question Id : 61547511377 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frfefan 9 @ v aos gu9 9w = w5 %9 6 9eae fife

(1)  woh, TamT=a, 9291, 91599, ohad, Tl

(2) U9, Hehad, T4, HIEAH, e, Tl
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Question Number : 15 Question Id : 61547511378 Question Type: MCQ Option Shuffling: No Display Question Nurmber: i<
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the form of education having high potential for providing optimism, self-esteem an
commitment to personal fulfillment, ethical judgement and social responsibility from tk
following :

(1) Formal education (2) Technical education
(3) Moral education (4) Value education
Options:

61547544357, 1
61547544358, 2
61547544359, 3
61547544360, 4

Question Number : 15 Question Id : 61547511378 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

feiea 9 & 38 foen & w=ew fi Tmaw AifAu fEE swETedr, S7eH T A9 SEihe qo
UidqaedT, Hide U 991 AT a0 & Heed # 95 2 Il 399 TEa 27

(1)  sAro=ies fae (2) TR A
(3) A fwem (4) Toa e
Options:

61547544357, 1
61547544358, 2
E1547544359. 3
E15475442360. 4

Question Number : 16 Question Id : 61547511379 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Fire 1s cold, because 1t 1= a substance”™ — 1s an i1nstance of which one of the hetuabhasa

(fallacy of inference)
(1) A siddha (unproved middle term)
(2) Badhita (non-inferential contradicted middle)

(3) Virudha (contradictory middle)
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Queetl%n Number : 16 Question Id : 61547511379 Question Type: MCQ Option Shuffling : No Display Qustio'tjeappe
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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e ﬁ -.-.-_I.IH“."‘ ] %;FEH-Y—_F‘: ,‘Jﬁnﬂﬁmﬁ%” —Wﬁﬁw %l‘c“’l-“H l'i-"il-"-h':; m}ﬁm%;
(1) Afog (g 749 =) © (s s )
(3) Taug (mEmd as9) O iR (b )

Options:

E1547544561. 1
615475442362, 2
615475442363, 3
61547544364, 4

Question Number : 17 Question Id : 61547511380 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which one of the following statements 1s correct with reference to a deductive argument?

(1) The relation between premises and conclusion 1s one of matter of fact
(2) The relation between premises and conclusion 1s one of logical necessity
(3) The relation between premises and conclusion 1s that of empirical necessity
(4) the relation between premises and conclusion 15 a matter of ascertainment ¢
probability
Options:

E1547544265. 1
615475442366, 2
61547544367, 3
615475443658, 4

Question Number : 17 Question Id : 61547511380 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fefafaa § ° %9 o %9 FHraaess 9% O T2Y 0 wE 27

(1)  =ATgR-=r94 A1 o9 % 959 999 G5 9949 45970 F 7
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61547544366, 2 prepp
6 1 54?54436? 3 Your Personal Exams Guide
61547544568, 4

Question Number : 18 Question Id : 61547511381 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

If two propositions are related in such a way that they cannot both be true togethe

although both may be false together. then such a relation 1s considered to be

(1) Contrary (2) Contradictory
(3) Subaltern (4) Sub-contrary
Options:

51547544269, 1
615475442370 2
61547544371, 3
61547544372, 4

Question Number : 18 Question Id : 61547511381 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
7fe 31 TR TH-ZE W §H TN H€tad 7 6 9 g9 Uk @Y HeF T8 ' E@ehdl, T=9 g OF @

(1) (2) =amETdE
(3)  Tior /3Tt (4) Z9-faa=s

Options:

61547544369, 1
61547544270, 2
61547544371, 5
61547544372 4

Question Number : 19 Question Id : 61547511382 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Which one of the following 1s true with respect to the first figure of categorical sy‘!::E'gJE'p
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(1) The middle term 1s the subject of the major premise and the predicate of the minc
premise

(2) The middle term 1s the predicate of the major premise and subject of the minc
premise

(3) The middle term 1s the subject of the major premize and the predicate of th

conclusion

(4) The middle term 1s the subject of the minor premise and the predicate of th

conclusion
Options:
1547544272 1
1547544374 2
1547544375 2
1547544376 4

Question Number : 19 Question Id : 61547511382 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
frTeiga 5§ i | F99 S =Eard F UYH S90  HeEy § 909 B 7

(1) =9 U2 GisA- AT 1 299 Ug - ATETR 1 HHT E

(2) T U2 WS- SATHTER 1 T U Y- ATET 32y 7

(3) W U WIEA-SATUTGRT i 3299 U9 fewd #1 faug 2 |

(4) T T2 G- ST 1 3299 U e @ faum 2
Options:
E1547544=27=2 1
C1547544574 2
61547544575 3
51547544576 4

Question Number : 20 Question Id : 61547511383 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WronaMarks: O
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In a developing country like India which among the following statements 1s &EQ;RQ
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challenges 1n the context of computer based testing?
(1) Many teachers do not have knowledge of computer

(2) Computer will destroy guru-shishya relationship

(3) Indian government can't afford to buy a large number of computers
(4) In remote locations availability of computer and electricity 1s not feasible
Options:

B15475442377. 1
615475442378, 2
6154754423759 3
61547544380, 4

Question Number : 20 Question Id : 61547511383 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
g 4 e 2w 8 Fefafigg 9 9 R @ e e A e F ged § e

i 7 7

() e Tl = Foge F1 79 2w

(2) FA -1 = Togatl = gara = =W

(3) 9T WEE WS TEA § FgE A iR Tl

(4) 7 T A FE AR faEm I ova T 2

Options:

61547544577 1
61547544378, 2
61547544379 5
61547544380 4

Question Number : 21 Question Id : 61547511384 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical
Corroct Marlkke: 2 \NMrona Marke: 0O
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61547544382 2 prepp

6 1 54?544383 3 Your Personal Exams Guide
61547544284, 4

Question Number : 21 Question Id : 61547511384 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
faentear =i stFEiys ghemr % o fFefifa 8 9 % =9 =0 5 geea 2

=0

(1)  FAETHF HEFwa (2) EATTHF TEEA
(3) Tt Teaaan (4) HEITTF FEHAT
Options:

E1547544281. 1
61547544382, 2
61547544383, 3
61547544354, 4

Question Number : 22 Question Id : 61547511385 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to one paradigm of research. following sequence 1s followed by the researchers :

Theory — Generation of hypotheses — Data collection — Data analyvsis and results -
Hypotheses confirmed or rejected — Rewvision of theory

This way of conceptualizing rezearch 1s based on which of the following :

(1) Inductive approach (2) Deductive approach
(3) Qualitative approach (4) Interpretative approach
Options:

51547544285, 1
61547544386, 2
61547544387, 3
615475443858, 4

Question Number : 22 Question Id : 61547511385 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options: 'repp

61547544385, 1 Your Personal Exams Guide
61547544386, 2
61547544387, 3
E154754423858. 4

Question Number : 23 Question Id : 61547511386 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements fails to indicate the intent of purposive samphng?

(1) Purposive sampling 1s not the fundamental principle for selecting cases an
individuals 1n quahtative research

(2) Purposive sampling places the Investigator's research guestions at the forefront
sampling considerations

(3) Theoretical saturation 1s a useful principle for making decision about sample size

(4) There 1= considerable disagreement about what 1s an acceptable mimimum samp]
size 1n qualitative research

Options:

615475443589, 1
615475443290 2
61547544291, 5
61547544292 4

Question Number : 23 Question Id : 61547511386 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
YT Ufdest = 91 d 398 © T 91 FUF 9F A9F F Ggad w4 4 s@nd 27
(1) oA Tig | =afeat vg =faadl ® 999 7 Jevd Tiaad Uk SEa fagrd T@ 2 |
(2) W=y widesl, wWewdl + weA1 H1 a2 994 § IEhEd a1 7 |

(3)  TidEw = WEER = 9R ° ol 4 o o dgias aqeatha v I fageE F

(4)  TONEF ATEEH 9 JAa9 TS AR i SEREaT % R 8 w6 q9€s |
Options:
61547544559 1
61547544590 2
61547544591 2
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Identify the skills promoted by communication from the following : 'repp
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(a) Reading and Listening
(b) Listeming and helping
(c) Helping and speaking

(d) Speaking and writing

Choose the correct option :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (a) and (d) only

(4) (c) and (d) only

Options:

61547544393 1
61547544394 2
£15475443295 =2
61547544296, 4

Question Number : 24 Question Id : 61547511387 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

feafafiga 9 o Duww g Hathd 29 9T el 3 959 i

(a) = 9491 Ham
(b)  HEW qYUT FErEAT
(c) TEEAT T4 THE

(d)  THE q wEA
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61547544396, 4

Question Number : 25 Question Id : 61547511388 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Choose the oriental learning institutes in India from the following :

(a) Asiatic Society
(b) Madras Sansknt College
(c) Tezpur Umiversity

(d) Mythic Society

Choose the correct option :

(1) (a). (b) and (d) only
(2) (a). (b) and (c) only
(3) (a). (c) and (d) only

(4) (b). (c) and (d) only

Options:

515475443297, 1
E15475443298 2
61547544299 5
61547544400, 4

Question Number : 25 Question Id : 61547511388 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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[y - ! [
] - 5
()  UEETZH TR

(b) TG TEHA Fielw

(c) AT favatae™

(d)  fafs e

TE e =1 =99

(1) =3 (a). (b) ¥F (d) (2) A (a). (b) 37 (c)
(3)  F9 (a), (c) 37 (d) (4) = (b), () 3T (d)
Options:

615475443397, 1
615475443395, 2
E15475442399. 3
51547544400, 4

Question Number : 26 Question Id : 61547511389 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

With regard to “Digilocker”. which of the following statements are correct?

(a) It 1s a digital locker system offered by the Government under Digital Ind

Programme
(b) It provides financial and technical assistance to voung start-up entrepreneurs
(c) It allows users to access their e-documents 1rrespective of physical location

Choose the correct option :

(1) (a) and (b) only
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61547544402 2 prepp

E‘) 1 54?5444[:'3 3 Your Personal Exams Guide
51547544404, 4

Question Number : 26 Question Id : 61547511389 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘Tefomait =+ Tag § fefaiad § 9 %9 8 F97 T50 7 ¢

(a) = Tefoee sfem wesn & 7=971d S0R 29 TATad 0F fsfaee at T # |

(b) =& T T2 AT TAHAT H G AT A TR T8 FA F

(b) = Hifew wEEats T 9 21, 3595 Mo ° IUErTEEl F 2-Ted] 9% T5E 999 ¢ |

Hﬁ?é$ﬂlﬂal:

(1) == (a) 37 (b) (2) A (a) ¥ (c)
(3) == (b) #K (c) (4) Fa (a). (b) 37 (c)
Options:

61547544401, 1
E15475444072. 2
E1547544403. 3
61547544404, 4

Question Number : 27 Question Id : 61547511390 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Which of the following statements are correct? 'repp

Your Personal Exams Guide

(a) (Google's web browser 1s called ‘Chrome’
(b) Apple’s web browser 1s called ‘Safart’

(c) “Mozilla firefox” 12 an open source web browsing software

Choose the correct option :

(1) (a) and (b) only
(2) (a) and (c) only
(3) (b) and (c) only

(4) (a). (b) and (c)

Options:

61547544405, 1
61547544406, 2
£1547544407. 2
61547544408, 4

Question Number : 27 Question Id : 61547511390 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

et 8 5 #9597 96 27
(a) T HT A9 FIS M el 7 |
(b)  THE F AY WEH AER] FEATA 7 |

(b)  ‘HITSSN FEEEH U A HIE O9 W31 WG F

HEl e =4
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Question Number : 28 Question Id : 61547511391 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following statements 1s/are correct?

(a) It 1s usually faster to access data stored in RAM than that in hard drive

(b) The hexadecimal number 99 1s the same as the decimal number 99

Choose the correct option :

(1) (a) only
(2) (b) only
(3) Both (a) and (b)

(4) Neither (a) nor (b)

Options:

51547544409, 1
61547544410 2
61547544411, =
61547544412 4

Question Number : 28 Question Id : 61547511391 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Tfeiiaa H | &9 w99 T8 7/5 7

(a) 1\ o vsTia ST 9, 7S S5 & S A T § T0El del ° 95T S Gl # |
(b)  TEEIHHl WA 90 AUT IHEHT HEAT 99 T UF 7 |

T T =91
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Question Number : 29 Question Id : 61547511392 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Consider the following statements :

(a) The Millennium Development Goals were to be achieved by 2015

{(b) The Sustainable Development Goals will guide United Nations Development

Programme Poliey until 2035

(c) The Sustainable Development Goals came into effect in January 2016

Which of the above statements are correct?

(1) (a) and (b) only
(2) (h) and (¢) only
(3) {(a) and (e) only

{4y {a), (b) and (c)

Options:

61547544413 1
61547544414 2
£1547544415 =2
61547544416, 4

Question Number : 29 Question Id : 61547511392 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

- f - . ,_P.-',?]:ﬁ'lﬂr;"r ﬁ,

(a)  HEEEdl e 5T T 2015 9% WH R WH 9 |

(b)  FUwUi TR &3 T T TRE e i R 2035 79 TSS w5 T |

()  Humefa faFm @59 F9a4 2016 & T9E! 2 |
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61547544415 3
61547544416, 4

Question Number : 30 Question Id : 61547511393 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Consider the following statements regarding noise pollution :

(a) Noise levels decrease as we move away from the source of noise
(b) Materials with high surface/mass density act as good noise barriers
(c) Sound pressure of 2 1 Pa corresponds to a noise of zero decibel

Choose the correct option from those given below :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (a) and (c) only

(4) {a). (b) and (c)
Options:

61547544417 1
615475444158 2
61547544419 3
61547544420 4

Question Number : 30 Question Id : 61547511393 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) = @9 9 T30 ¥ TH T T 7 99 7 e = w2

(b)  F=< Y9 ZSE9M TAcd ATl AHEET 3 S FE0aE & T 5 w6 F f

(c) Eppa?ﬂmﬁm@%{fﬁﬁﬁﬁﬁﬁ%ﬁmﬁl

fferiag 5 o o8 Ta@eT &1 991 1 ;

(1)  =ad (a) 3R (b) (2) A (b) HE (c)
(3) A (a) F (c) (4) (a). (b) 3 (c)
Options:

61547544417, 1
61547544418, 2
61547544419 3
E1547544420. 4

Question Number : 31 Question Id : 61547511394 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below 1z a question followed by three statements.

Identify the statements, which 1s/are necessary to answer the question.

“What 1s the speed of the train’?

(a) The train crosses another train running in opposite direction in 20 seconds
(h) The train crosses a platform of length 300 m 1n 30 seconds

(c) The train crosses a pole 1n 10 seconds

Choose the most appropriate option :

(1% fay and (BY anls
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61547544422 2 prepp
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51547544424 4

Question Number : 31 Question Id : 61547511394 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

5 v woa o e 2 Tomw gmtaa T o =9 weml 1 == Fife = uva F s % o s R

T7A—2A i Md T B Y
(a) 2 Taudia f2on | 339 ar=il 24 1 20 96hs § U 5 A4l 7 |
(b) 27 300 HizT =8l TEHH Fl 30 THS U N FL A1 7 |

(c) 27 U% @H w1 10 THS T IR T T4l 7 |

TATEF ITgFT T 91

(1) e (a) AN (b) (2) Fad (a) N (c)
(3)  Fa= (b) #F (¢) (4) (). (b) # (c)
Options:

615475444211
61547544422 2
61547544423 3
E1547544424, 4

Question Number : 32 Question Id : 61547511395 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) Earth would be safer without greenhouse effect
(b) Major contribution to the greenhouse effect comes from carbon dioxade

(c) Earth's chimate was changing even before man appeared on earth

Which of the above statements are correct?

(1) (a) and (b) only
(2) (b) and (c) only
(3) (a) and (c) only

(4) (a), (b) and (c)
Options:
61547544425,
61547544426,
61547544427,
61547544428,

[ N

Question Number : 32 Question Id : 61547511395 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(a)  Tedt =Ra Tz (3 wreE) wuE F e geda Bl

(b) = T (FHEEE) THE w gET HEE wEE SEATEES ° S E |
() WAt F Forarg oA Yz WA F qd o wEer wel o |

ELi i e o e

(1) =94 (a) 317 (b) (2) === (b) #1 ()
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Your Personal Exams Guide

In educational institutions, students usually have group journals/magazines and write |
them on regular basis. Which of the following statements are correct about journaling as
method of informal assessment.

(a) As a tool that provides opportunity to the students to express their thoughts and 1des
(h) As an opportunity to showecase what they have learned

(c) As a way to cope with the stress

(d) As a tool to settle scores with the authority

Choose the correct option :

(1) (a) and (c) only
(2) (b) and (c) only
(3) (a) and (b) only

(4) (c) and (d) only
Options:
61547544429, 1
61547544420 2
61547544431 =
61547544432 4

Question Number : 33 Question Id : 61547511396 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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7 | Feferiaa 5 # UH 1 H HUE WAl 2 A e (i % for, sitEies g i ughd & H -
-,
(a) T T UHT 9 B A (R A AR 3R AT T O T A TEH AT E

(b) =14 7 I T O 7, 30 USRI i H UH AT E |
(c) =& W Ia% o1 UFH T E |

ol T =1 =99 W

(1) 39 () 37 () @) T (b) #HE ()
(3)  Fa (a) 3N (b) (4) T (c) = (d)
Options:

61547544429 1
61547544430, 2
E1547544421. 3
B1547544432. 4

Question Number : 34 Question Id : 61547511397 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Spotting gaps 1n the research hiterature 1s the chief way of 1dentifying research gquestions. I

this context, ‘spotting gaps’ in the research lhiterature refers to :

(a) Identifving under-researched areas
(b) Recogmizing the gap between two researchers’ background
(c) Identifying inconsistent findings in an area of research

(d) Recognizing gap in the characteristics of sample and population

Select correct option :
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Options: 'repp

61547544433 1 Your Personal Exams Guide
61547544434 2
61547544435 3
E1547544436. 4

Question Number : 34 Question Id : 61547511397 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

MY TMEeA H AT i TEET A SPEHEE U9l 1 TEEE S UF TG A 7 | 59 99 § 9y E@ie
R Sl e o )

(a)  —FFE F9H FA ATEGHE/ FHEA F EET F

(b) =1 AFEGE! i TG F A i TEEE T

()  FFEYM # &3 H A R F1 9EEe 6 |

(d)  widew R TEy i et § w5 i uEEE w5 |

jlﬁ1 a € E'-:Iq-l q :-E[ lr::a '_‘| a?‘{:

1)  (a) 3 (©) (2) (b) 3T (d)
(3)  (a) T (b) (4) (o) N (d)
Options:

61547544433 1
E15475444=34. 2
E1547544435 3
51547544436, 4

Question Number : 35 Question Id : 61547511398 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Match the List-I containing name of the Commissions with IList-II ccr!a(&r@ Rdl"

recommendation of that commaission

List I
(Commissions)
(a) Radhakrishnan Commission (1)
(b) Mudaliar Commission (11)
(c) Kothari Commission (111)
(d) Sam Pitroda Commission (1v)

Choose the correct option from those given below :

(1) (@-@1). (b)-), (e)-(ii1), (d)-(v)
(2)  (a)-@). (b)-(v). (c)-(1). (d)-(11)
(3) (a)-(u1). (b)-(1). (c)-(1v), (d)-(11)
(4 (a)-@v). (b)-(am). (c)-(2). (d)-(11)
Options:

61547544437 1

61547544438, 2

51547544439 3
61547544440, 4

Laist IT
(Recommendation)

Introduction of 3 vears of secondary
and 4 years of higher education
system

Restructuring curriculum for multi-
disciphinary professionals

Integrating secondary and higher
education

Three vears of degree and 4 years of
honours degree courses

Question Number : 35 Question Id : 61547511398 Question Type: MCQ Option Shuffling: No Display Question Number : Y e

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
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T - T T 3 101
Eey (E=gia)
(a) TTET FEH HAEAFT () = 9 AEEmE SR AR 96 e TE
T T EAT H HeEiad
(b) HeTfer=w =AM (i) ®Ed st & =FEEEE wq TEIEE F
() ThI3T ZA=m (iil) HTEAF T 3= B g
TR
(d) HH ToE A (iv) o U =EE 99 9W 99w Ay

TieAias 0 Hel f9ed =1 999 ¥4 ;

(1) (a)-(1). (b)-(12). (c)-(111). (d)-(iv)
(2) (a)-(11). (b)-(iv). (c)-(1), (d)-(1ii)
(3) (a)-(111). (b)-(1). (e)-(v). (d)-(i1)
@ (@-Gv), (b)-(), (¢)-(1). (d)-()
Options:
£1547544437. 1
£1547544438, 2
61547544439, 3
61547544440, 4

Question Number : 36 Question Id : 61547511399 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Match the following environmental disasters with the words or phrases ass&:!a%?&i

Personal Exams Guide

Last I Last IT
(a) Bhopal gas tragedy (1)  Dumping of Hazardous substances
(b) Chernobyl disaster (11) Peroxvacetyl Nitrates (PAN)
() Love Canal tragedy (1) Nuclear accident
(d) Los Angeles smog (1v) Methyl Isocyamide

Choose the correct option from those given below :

() ()-@). (b)-(1). (¢)-v), (d)-(1)
(2)  (a)-v), (b)-). (¢)-(@). (d)-@)
(3)  (@-@). (b)-). (c)-(v). (d)-(111)
(4 (a)-@). (b)-). (c)-(m1). (d)-@)

Options:

61547544441, 1
61547544447 2
61547544443 =
61547544444 4

Question Number : 36 Question Id : 61547511399 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FATARad TS ATIEIHT 1 394 T4 FEid ) SR arEmen § GHod &

T - 1 T - IO
(@) 9IS TE AR (i) @A EET st
(b) =T A (i) W AR ()
(¢) = HATe AT (iii) iR gE

(d) = Usew (iv) Tousel smsEmEEas
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Options: 'repp

61547544441, 1 rnet vme i
61547544442, 2
61547544443, 3
£1547544444. 4

Question Number : 37 Question Id : 61547511400 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List-T with Last-II

List I Last IT
(Digital Imtiatives) (Purpose)
(a) SWAYAM (1) Integrated Library Management
software
(b) Spoken Tutorial (1) Robotics competition
(c) e-Granthalaya (11) Promotes IT lLteracy through oper

source software

(d) e-Yantra (iv) Personalized and adaptive learning

Choose the correct option :

(1) (a)-(1). (b)-(v). (¢)-(11), (d)-(11)
(2) (a)-(1). (b)-(1). (¢)-(111), (d)-(1v)
(3) (a)-(1). (b)-(11). (¢)-(iv). (d)-(1)
(4) (a)-(1v). (b)-(11). (c)-(1). (d)-(11)
Options:

61547544445, 1

£1547544446. 2

£1547544447. 3

1547544445 4

Question Number : 37 Question Id : 61547511400 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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-1 geAi-11 & gt 37

T - 1 T - 11
(fsfsest 7me) (3g2w)
(a) T=IH (i) T gEEETE T AT
(b) T FEETE (i) T wfaerEl
() 3. TU=HA (1) T TE HEZEAE F AR AR 7
d 3 T (iv) =fFaF =17 ATFF AT

1) (@-@. (b)-v). (c)-(1). (d)-(111)
(2)  (a)-(). (b)-(). (¢)-(1), (d)-(1v)
(3) (a)-(11). (b)-(11), (c)-(1v), (d)-(1)
(4)  (a)-(w). (b)-(1d). (c)-Q). (d)-(11)

Options:

61547544445 1

61547544446 2

£1547544447 3
E154754444d5 4

Question Number : 38 Question Id : 61547511401 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Match the items given under Column II providing description with the items umglr &RBD

indicating the basis.

(a)
(b)
(c)
(d)

Column I
(Basis)
Cognitive
Emotional
Social
Verbal

Choose the correct option :

(1)
(2)
(3)
(4)

Options:

(a)-(1). (b)-(111). (c)-(v). (d)-(11)
(a)-(wv). (b)-(m1), (¢)-(1), (d)-(11)
(a)-(av). (b)-(1i1). (¢)-(11). (d)-(1)
()-(1v), (b)-(1). (c)-(11). (d)-(1m1)

51547544449 1
61547544450, 2
61547544451, 3
61547544452, 4

(1)
(11)
(1i1)

(1v)

ersonal Exams Guide

Column IT
(Description)
Ability to relate to other
Ability to articulate the 1dea
Ability to read others' facial expression
Ability to solve abstract problem

Question Number : 38 Question Id : 61547511401 Question Type: MCQ Option Shuffling: No Display Question Number : Ye

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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F=m - 1 Fiem - 11
(=mEm) (Termon)
(a) HEHCHE (i)  F= F TY GEY [ H A0FAT
(b) T (i) =Rl w gEwE e A
(¢) ETHIT (ii) T F == F FE-9TF F TS F TEIAT
(@) Hifig® (iv) 3 B9E 1 GEEE e A

el TFed = 9599 1 :

(1) (a)-(1). (b)-(in1), ()-(1v), (d)-(11)
(2) (a)-(iv). (b)-(i11), (c)-(1). (d)-(11)
(3)  (@)-w). (b)-(m1). ()-(1), (d)-()
(4) (2)-(v), (b)-(1), (e)-(11). (d)-(111)

Options:

61547544449 1

61547544450 2

61547544451, 3
61547544452, 4

Question Number : 39 Question Id : 61547511402 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Match the following national co-ordinators of SWAYAM (List I) with their dl'tﬁl?l&ﬂr

Your Personal Exams Guide

programmes (List IT)

ListI Last IT
(a) NPTEL (1)  School education
(b)y CEC (1) Engineering programme
(c) NCERT and NIOS (m) Teacher training programme
(d) NITTR (1v) Under-graduate education

Choose the correct option from those given below :

(1) (a)-(m1). (b)-(11). (c)-(av), (d)-(1)
(2) (a)-(1). (b)-(iv). (c)-(1). (d)-(111)
(3)  (a)-(). (b)-(iii). (c)-(i). (d)-(iv)
(4 (a)-(v), (b)-(1). (e)-(111). (d)-(11)

Options:

61547544453 1
61547544454 2
61547544455 =
61547544456 4

Question Number : 39 Question Id : 61547511402 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T % et T FaEw (e 1) 1 e S (g 1) | gt i

Tl - 1 i - 10
(@) A E e () e e
(b) T (i) TR e
(€) T HIE WE F s T AE A (iii) fore TfeE SR
(d) T F A R (iv) TH T e

R il i e = B e o = B
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Options: 'repp

61547544452 1 Your Personal Exams Guide
61547544454 =
61547544455 3
E1547544456. 4

Question Number : 40 Question Id : 61547511403 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Select the option that contains only computer input devices

(1) Kevboard. Mouse. Joystick, Printer
(2) Mouse, Monitor, Joystick, Keyboard
(3) Joystick. Keyboard. Digitiser, Monitor

(4) Joystick, Kevboard. Mouse, Digitiser

Options:

61547544457 1
61547544458 2
61547544459 =
E15475444E80 4

Question Number : 40 Question Id : 61547511403 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

LS

fffas 7 5 39 faweg =1 =97 =+ {508 Faa o= gt (3792 fsasgs) mie &

e

(1)  FmErs, 98, saEes,
(2) o134, "HiHZL, =EeE, U
(3)  waEtI®, wEE, ErazEa, g

(4) A, e, e, e
Options:
E1547544457. 1
E1547544458 2
61547544459 =
61547544450 4
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Which of the two following 1= the correct sequence of greenhouse gases amnrzlrslp Be

Your Personal Exams Guide

relative global warming potential in increasing order?

(1) Nitrous oxide, Methane. Carbon dioxade. Chlorofluorocarbons

(2) Carbon dioxide, Methane, Nitrous oxide, Chlorofluorocarbons

(3) Methane. Nitrous oxide. Carbon dioxide, Chlorofluorocarbons

(4) Carbon dioxide. Nitrous oxide, Methane, Chlorofluorocarbons
Options:

B1547544461. 1
615475444872 2
61547544483, 3
61547544454, 4

Question Number : 41 Question Id : 61547511404 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frfafas 9 @ remee aifdn i g9eEa % S9ER wRarE (fiF 7eE) O i T\ w5 gigee 39

(1) TEZE AT, fHeE, FEAEEATEEs, TR

(2) FEASEATFES, A, AEzA ATFETS, FARF A

(3) YR, AT ATHETS, FEASEAAAEES, FARTTRFEA

(4)  FEASEATFAES, A52E SATFETS, WA, FAREEA
Options:
15475444611
E1547544482. 2
1547544463 2
61547544464 4

Question Number : 42 Question Id : 61547511405 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Given below are two statements - one 1s labelled as Assertion (A) and the other g Eﬁeﬂeﬁ :

Personal Exams Guide

Reason (R) :

Assertion (A) : A researcher can draw a definitive conclusion even if there 1s a litt
evidence to support it.

Reasons (R) : Statistical test of significances helps a researcher in drawing logical

correct inferences from the data.

In the light of the above statements choose the correct option :

(1)
(2)
(3)

(4)

Options:

Both (A) and (R) are correct. and (R) 1= the correct explanation of (A)
Both (A) and (R) are correct. and (R) 12 not correct explanation of (A)
(A) 18 true. but (R) 1= false

(A) 1s false. but (R) 1s true

61547544465 1
61547544486, 2
E15475444E7. 3
E15475444E65. 4

Question Number : 42 Question Id : 61547511405 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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e 71 Fue T30 0 2, gwen wfaEwdE (A) 1 gEn 7% %9 (R) F 'repp

HAFAT (A) FIE FTAE Al HIEATE oY R T 2 9 7 9% TH9E B W15 T 7

% 9 (R) : TEeqUl WAl THEST SFTEU el i Sl @ AT AT FE SAE @ 9§
qﬂﬁ;%|

ST FYE I S ° Tad 50 FEfEd § 85 w6 97 T FE

(1) (A) 3 (R) 21 =7 = #i7 (R) (A) i T = & |
(2) (A 3R (R) 3 TF & 37 (R) (A) F1 78 == 76 2 |
(3) (AT ®)ToE R

4) (A7 = g (R) W R
Options:
61547544465 1
61547544466 2
61547544467 3
61547544465 4

Question Number : 43 Question Id : 61547511406 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two statements - one 1s labelled as Assertion (A) and the other 1s labelled =

Reason (R) :
Assertion (A):  No social activity 1s possible without communication.
Reasons (R) : Communiecation plays vital role in our daily life.

In the light of the above statements choose the correct option :



81547544469, 1 prepp
61547544470, 2 eprenions e
61547544471 3
61547544472 4

Question Number : 43 Question Id : 61547511406 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
= 71 For fam T # ween AfaFI (A) W gE0 9% Fw9A (R)F EUH 7

AT (A) : T T % i TS TAET T T A
% F (R) : TN FAW 2 SE § AEeage g e 2

3 3F1 FUAT R SIF § TEd 50 TE) fEeheT =

(1) (A #R (R) =4 T8 2 3 (R) (A) F1 72 =3m= 2|
(2) (A @R) A A E G (R) A) F = = 6 2
(3) (A THE g R) A 7

(4) (A) T 7 Thg (R) T=1 2 |
Options:
61547544469 1
61547544470 2
61547544471 3
61547544472 4

Question Number : 44 Question Id : 61547511407 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Given below are two statements - one 1s labelled as Assertion (A) and the other 1'5&”3
Reason (R) : our Personal Exams Guids

Assertion (A):  Motivational aspects of learning and communication efficacy are not inte
related.

Reasons (R) : Communication as a social product has its own variables In a learnin
environment.

In the hight of the above statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true
Options:

15475444721

1547544474 2

1547544475 2

1547544476 4

Question Number : 44 Question Id : 61547511407 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

= 21 e T2 T amen SAtaweE (A) HT TE0 7w (R)F ET H 7

AT (A) AT 37 TN EEAT % AN TR WER Hag T 2 |
r . ! = = A [ =) % A ™ . e
% 91 (R) : T 30918 o 9 § U9 2q AP 9iEe & 309 =1 2 ¢ |

Al foFeT 1 =3 e

(1)  (A) =T (R) A1 94 2 3 (R) (A) Fi T =amea 2|

Py P Tt (U L g S PR - i (N (e SR T S T b STl | oy TRTURUNE o - N CL UM 1 s T
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Question Number : 45 Question Id : 61547511408 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements - one 1s labelled as Assertion (A) and the other 1s labelled :

Reason (R) :

Assertion (A):  Forests help in improving the air quahity of a place.

Reasons (R) : Some tree species emit volatile organic compounds (VOCs) such :

1soprene which may contribute to formation of tropospheric ozone.
In the light of the above statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 15 not the correct explanation of (A)
(3) (A) 12 true. but (R) 1s false

(4) (A) 1s false, but (R) 1s true
Options:
15475444771
C1547544478 2
61547544479 3
51547544450 4

Question Number : 45 Question Id : 61547511408 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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o T - x = r re

J= 21 F9F 20 0 2 uEen AfaweH (A) @R 3 9% w9 (R) F 'pmp
AR (A) : = TRl Tu= it ag-T9EET & g9E | Tl TR b |

% F9F (R) : T WA & 981 AT FEEE G F SeEeE Hd £ A9 TR seaniE faew o

I 2M1 B 1 SIH § T 50 WAl 9 =

(1) (&) 3 R) 29 =# 3 =i (R) (A) 91 78 = 2 |

@) (A) 3t (R) 29 wA E e, (R) (A) T8 s @5 R
(3) (AT =, fFg (R) = = |

(4 (A 7Ted 7, g R) T 7 |

Options:

15475444771

C1547544475. 2

61547544473 3
E1547544450. 4

Sub-Section Number: 3
Sub-Section 1d: 615475493
Question Shuffling Allowed : Yes

Question Id : 61547511409 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuesticon Label | Comprehension

Read the following passage and answer questions numbered 46 to 50 :

All art 1s a blend of form and content; and 1t 1s through certain excellences characterisir
either, that the artist succeeds 1n inducing 1n us the artistic attitude. In the case of poetr
for example, the content 1s constituted by the figurative ideas. and sentiments 1t expresses
and the form, by the musical language through which they find expression. Of these, tl
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Queetl%n Number : 46 Question Id : 61547511410 Question Type: MCQ Option Shuffling : No Display Queﬂio'meappe
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Your Personal Exams Guide

What constitutes the content of poetry according to the passage?
(a) Figurative ideas
(b) Musical language

(c) Sentiments 1t expresses

Choose the correct code from below :

(1) Only (a) and (b) (2)  Only (a) and (c)
(3) Only (b) and (c) (4) Only (b)
Options:

E1547544451. 1
61547544482 2
61547544453, 3
61547544454, 4

Question Number : 47 Question Id : 61547511411 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following 1s correct with respect to the form of poetry as per the passage?

(a) Form doesn't vary from one art to another
(b) Form 1s technical

(c) Form 1s figurative

(d) Form constitutes musical langauge

Choose the correct option from below :

(1) Only (a) and (b)
(2) Only (b) and (d)
(3) Only (b). (c) and (d)
(4) Only (a). (c) and (d)

Options:
61547544485 1
61547544456 2

c1iCcCcA7FCAAASDT —J
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What 1s legitimate function of form? 're.pmpd
(1) To obverse the content (2) To reject the content
(3) To subszerve the content (4) To subsume the content

Options:

61547544459 1
61547544430, 2
E1547544431. 3
B15475444592. 4

Question Number : 49 Question Id : 61547511413 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Content of the art 1s defined in the passage as

(1) the form 1t exhibits (2) the language 1t uses
(3) the meaning it subsumes (4) the meaning it expresses
Options:

61547544453 1
61547544434 =
61547544435 3
E15475444396, 4

Question Number : 50 Question Id : 61547511414 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What kind of art 1s the best type as per the passage?

(a) The one which lends greater importance to content
(b) The one which lends greater importance to form
(c) The one 1in which form subserves the content

(d) The one 1n which content subserves the form
Options:

1547544497,
1547544495
1547544499

o = 4 4 4

L ra o=

L
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fferfiga wfteds =i 98 =it we 46 ¥ 50 = Jeat 3 - Prepp

Wmmmmwmﬁmﬂﬁmﬂwnwfﬂﬁﬁﬁwmm$mm
FATHRE FAT A0 FHeAcmF eh [THGT FH °H 7% 2 7| 38 & fow S 0 favm-ag e
fafdfa sl fEm ot oo Tean & =99 SaaTe 9 B 2 . 3 T Fat f st F
WWWW'}’WHUTWH@HWHWH-11I'+}I'5'1d-:'1F-:InI"IIrSﬂTTﬂFﬁ?ﬁli
=1?|Tr1=ﬁa=1‘5'uﬁﬁuc|ﬂtu=l""rmwaﬂ'{ﬁq'ﬂT:P-‘r{‘lr{‘f'{m?thJ4|—|r¢~|Hd{U*||"ﬂfH'?‘5'Haﬁ‘i
o= ° T R e T fTm-aeg siam g |1 6 B 2 mqﬁ?ﬂ'ﬁﬁmmﬁﬂﬁﬁﬂf
HEfad Fia F IFT F TERAT F IS Tal FHa T THAT | Fell F UG F AEEEE: TE0E G
ﬂfﬁﬁﬁﬂfﬂﬂﬁ?mﬂmﬂﬂfﬂﬁfﬁmmmﬂwmmnﬁ?ﬂﬂm 3R =
fafag wm = wiia it o = 2 |

Sub questions

Question Number : 46 Question Id : 61547511410 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ufi=de F FIEE Hdar Fi Tog aeg 4 T @f=fma 27

(a)  ATAFIS =R
(b)  TftAEE G

(c) ST T

(1)  Fa (a) =R () (2) Fa= (a) @ (c)
(3)  Fad (b) ¥ () (4) a4 (b)
Options:

E1547544451. 1
E1547544482. 2
61547544483, 3
51547544454, 4

Question Number : 47 Question Id : 61547511411 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0O
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wftedn % SR R T AR A Gt § d w5 w7 prepp

Your Personal Exams Guide

(@) U Fell H gEI Fel °§ =R a5 geedl B

(b)  THE ==Y AHA 7
(c) HEY STAFRIE 26T 2

(d) ==Y TiEgE 9T i = AT R

ffetas § o T e =7 -

() 9 (a) 37 (b) (2) === (b) 3T (d)
3)  F= (b). (o) # (@) (4) T (a), () # (d)
Options:

61547544455 1
E1547544486. 2
B1547544487. 3
51547544458, 4

Question Number : 48 Question Id : 61547511412 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(1) fam-==g faam (2) TaFE-Tag F1 FAF
(3) fama-73 4 @@= = (4) Tawa-=mg =t Tarted & =
Options:

E15475444859. 1
E1547544430. 2
515475444591, 3
61547544457 4

Question Number : 49 Question Id : 61547511413 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FeAl 1 T —a5d & THeas °§ 0 THR gR9Ha & = & 7

{1} Wﬂmﬁfﬁﬂmiﬁaﬁm {2} mWWWEH‘Rm
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Queetl%n Number : 50 Question Id : 61547511414 Question Type: MCQ Option Shuffling : No Display Questio"meppe
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Your Personal Exams Guide

Tii=ge F AR 9 THE Fi FeA Ta THTdl F S5 2

(1) o= T5d fama-=mg =+t =91 7eea T = 2

(2) =7z T99 O =90 F e 950 =1 = e

(3) =% f5m | w==m, fav=-7 + O @2 2 2

(4) == 5@ 4 - =Ey % A gsEs = 2
Options:
61547544497 1
61547544495 2
61547544499, 3
61547544500, 4

FPART II Political Science

Section Id : 615475152

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 92

Number of Questionsto be attempted: 92

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I d: 615475494
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 61547511415 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Theory of form and allegory of caves 1s related with

(1) Plato (2) Amnstotle
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Queetl%n Number : 51 Question Id : 61547511415 Question Type: MCQ Option Shuffling : No Display Questio"meppe
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Your Personal Exams Guide

ATHR F1 Tgid (S ATF FH) 3T TEE F 59 (THE A% wed) Fefataa 9 ¥ e g getd

(1) = | (2) 34
(3) et (4) 7=
Options:

51547544501, 1
61547544502 2
61547544503, 3
61547544504, 4

Question Number : 52 Question Id : 61547511416 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arthashastra is known as

(1) Shruti (2) Smnt1
(3) Samhita (4) Nitishastra
Options:

51547544505 1
61547544506, 2
61547544507, 3
E1547544508. 4

Question Number : 52 Question Id : 61547511416 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AU F =feaa § 8 fFrg =7 85 39 9 27

1 = (2)
(3)  @Ea (4) i
Options:

51547544505, 1
61547544506, 2
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Vandana Shiva 1s known as 'relpmpd
(1) Post Modernist (2) Marxist
(3) Eco-feminist (4) Conservatist

Options:

E1547544508. 1
51547544510, 2
51547544511, 3
61547544517 4

Question Number : 53 Question Id : 61547511417 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

1 foman F=forfigs 9 o g =9 o 9+ 9 B 7

(1) 37 gHFaEnE] (2) wEEEE
(3)  TEERw-TEAY AEE] (SR —wEEe) Q) wfeard

Options:

61547544509, 1
61547544510 2
61547544511, =
61547544512 4

Question Number : 54 Question Id : 61547511418 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following freedoms was not mentioned by Roosevelt?

(1) Freedom of speech (2) Freedom of worship
(3) Freedom from fear (4) Freedom against exploitation
Options:

615475445131
61547544514, 2
61547544515 3
61547544516, 4
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prepp

Feforfiga = @ 9 6 1 39 Seeee 3 T8 S an? Vour eronet xams i
(1) == @=aad (2)  FamEAT i =
(3) v TETA (4) I F fag =

Options:

E1547544513. 1
E1547544514. 2
51547544515 3
61547544516, 4

Question Number : 55 Question Id : 61547511419 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who 1s not a supporter of Libertarianism?

(D Robert Nozick (2) Mailton Friedman
(3) Robert Dahl (4) F.A. Hayek
Options:

615475445171
61547544518, 2
61547544519, 3
E1547544520. 4

Question Number : 55 Question Id : 61547511419 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Hofefigs § ° F9 S===099E =1 T99F T8 2 7

(1) =2 Jita+ (2) Tieed HisHA
(3) T sEA (4) TE.U, BEF
Options:

E1547544517. 1
E1547544518. 2
FR1EAFEAAET S =
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The best propounder of Pluralist Theory of Citizenship was our Personal Examme oulde
(1) T.H. Marshal (2) Anthony Giddens
(3) B.S. Turner (4) Dawid Held

Options:

61547544521, 1
61547544522 2
E1547544523. 3
E1547544524. 4

Question Number : 56 Question Id : 61547511420 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-, ‘. - - . =4 .
AT F FEAATE] g F Harg WiodEE i 97

1) A= ameE (2) U figew
(3) stmE TR @) =fEEes
Options:

61547544521, 1
61547544522 2
61547544523 3
E1547544524. 4

Question Number : 57 Question Id : 61547511421 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Distributive Justice 1s mainly concerned with distribution of honours or wealth
Who said 1t?

(1) Plato (2) Anstotle
(3) Marx (4) Gramsci
Options:

B1547544525. 1
61547544526, 2
61547544527, 3
61547544525, 4
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prepp

(1) =@ (2) =T
(3) HIFH (4) T
Options:

61547544525 1
E1547544526. 2
B1547544527. 3
61547544528, 4

Question Number : 58 Question Id : 61547511422 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who had condemned utihitarianism in his Theorv of justice?

(1) Plato (2) Hayvek
(3) Rawls (4) Mlton
Options:

615475445259 1
61547544530, 2
61547544521, 3
E1547544532. 4

Question Number : 58 Question Id : 61547511422 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TeAfettaa o ° ThEA 3104 =9 fagm 9 IuEiaEng i e i 917

L == (2) FEF

(3) Tem (4) Toead
Options:

61547544529 1
61547544530, 2
E1547544521. 3
E1547544532. 4
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Which among the following 1s the full title of the book written by Mary Wuﬂstﬂn%gergg&ﬁge
(1) A Vindication of the Rights of Women

(2) A Vindication of the Rights of Women with strictures on political and moral subjects
(3) Reflections on the French Revolution

(4) A Vindication of the Rights of Human Beings

Options:

61547544533 1
61547544534 2
61547544535 =2
E1547544536 4

Question Number : 59 Question Id : 61547511423 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1) ffem s 7 sm s e

@  ©fafsFm o 3 TEem ATF g fag g A TR U A aeaaed
(3) TrrAwEEE w4 7 %= faegee
(4) U TafsHIH ATF 2 T5A aF w99 foey

Options:

61547544533 1
61547544534 2
61547544535 =2
E1547544536 4

Question Number : 60 Question Id : 61547511424 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who said. “Every state 1s known by the rights that it maintains™?

(1) Lask (2) Green
(3) Hegel (4) Barker
Options:

E15475445237. 1
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TFE T o, U T R 30 g SIeE It & e s s 2 Vot et s i
(1) AT (2) M
3) == @) =

Options:

61547544537, 1
E1547544538. 2
E1547544539. 3
51547544540, 4

Question Number : 61 Question Id : 61547511425 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which 1incident made Periyar an Atheist?

(1) Self Respect Movement
(2) Kashi Pilgrimage Incident
(3) Dravida National Movement
(4) Discrimination 1n society
Options:
1547544541 1
1547544542 2

E1547544543. 3
E1547544544. 4

Question Number : 61 Question Id : 61547511425 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) HTeH T AR A

(2) ZaE "_‘ﬁ?i AT ol T2 .‘-[
(3:] ,aE"lE_- 7Té:|_"5[ '-'_.Fl'IE'I-'_V'I_r[ -_-[

(4)  TETS 9 9=9E ® w0
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Corregt Mpgrks:Z Wrong Marks: 0 'repp

Your Personal Exams Guide

When was Jalprakash Narayan awarded Bharat Ratna?

(1) 1999 (2) 1998
(3) 1997 (4) 1996
Options:

61547544545 1
61547544546, 2
61547544547, 3
61547544545, 4

Question Number : 62 Question Id : 61547511426 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

YT TR S 9EE T %8 ST T T Y

(1) 1999 (2) 1998
(3) 1997 (4) 1996
Options:

E1547544545. 1
E1547544546. 2
61547544547, 3
51547544548, 4

Question Number : 63 Question Id : 61547511427 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which vear did Rabindranath Tagore surrender the kmighthood as a protest agan
Jalhanwala Bagh Massacre?

(1) 1919 (2) 1924
(3) 1935 (4) 1937
Options:

615475445459 1
61547544550, 2
61547544551, 3
E1547544552. 4
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g a9 | tfamg A9 TR A FfeEETEn a7 F TEER % 50 § Aszas i T w o we iy ot

(1) 1919 (2) 1924
(3) 1935 (4) 1937
Options:

615475445459 1
61547544550, 2
61547544551, 3
E1547544552. 4

Question Number : 64 Question Id : 61547511428 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following 1= not related to Kabir?

(1) Begampura

(2) Bhakti

(3) Panchvam

(4) Gender 1nequality

Options:

61547544553, 1
61547544554 2
61547544555 =
61547544556 4

Question Number : 64 Question Id : 61547511428 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

efeifiad § § 14 O7 F87 § Taf-ad 181 2 7

(1) =T
(2) i
(8)  w=aT
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In which vear, Government of India decided to obzerve the birthday of Swamai )\ 1&%
as the National Youth Day?

(1) 1984 (2) 1985
(3) 1986 (4) 1987
Options:

61547544557, 1
61547544558, 2
E1547544559. 3
E1547544560. 4

Question Number : 65 Question Id : 61547511429 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A FRT A 6 A A T a5 S9N [ead Fl TEE T4 399 % =9 "AE o e form ?

(1) 1984 (2) 1985
(3) 1986 (4) 1937
Options:

E1547544557. 1
61547544558, 2
61547544555, 3
61547544560, 4

Question Number : 66 Question Id : 61547511430 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who 1s the author of the book “Escape from Freedom™?

(1) Herbert Marcuse (2) Erich Fromm
(3) Jurgen Habermas (4) Thomas Friedman
Options:

51547544561, 1
61547544562, 2
61547544563, 3
61547544564, 4

et R e P A" Rl AP A=A A RPN N 2% emm B s~ S~ 1° o~ £€1*  ml =m0 e a®  ma



www.prepp.in

prepp

w .FU?-_;Eq .?:rq ﬁgﬁ[“ '_:ﬁ m :_F.I_-I %:? Your Personal Exams Guide
(1) =2 AnE (2) ufF wm
(3) T FEHH (4) aimE Frsa

Options:

61547544561, 1
61547544562, 2
E1547544563. 3
E1547544564. 4

Question Number : 67 Question Id : 61547511431 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The author of the book “Nation and Nationalism™ 15

(1) Ernest Gellner (2) Hans J. Morganthau
(3) J.S. Coleman (4) Rajm Kothar
Options:

61547544565, 1
61547544566, 2
E1547544567. 3
E1547544568. 4

Question Number : 67 Question Id : 61547511431 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) 3= o (2) =9 A, g
(3)  S.UH. FeHA (4) = =
Options:

61547544565, 1
E1547544566. 2
E1547544567. 3
61547544568, 4
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Which of the following 1s not correct? 'repp

Your Personal Exams Guide
(1) Nation 1s psychological concept

(2) State 1s legal concept

(3) Nationalism 1s attribute of Nation
(4) Nation and state are co-terminus
Options:

E1547544569. 1
E1547544570. 2
51547544571, 3
61547544572, 4

Question Number : 68 Question Id : 61547511432 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

feafafEga g g s-m a8 98 27

(1) T8 TF gIEANS THeT 7
(2) =9 UF Taigs Tweu 2
(3)  Twame Wy i A 2

(4)  TE Ud ST HE-faear (H-=E) 2

Options:

61547544569, 1
61547544570 2
61547544571, 5
61547544572 4

Question Number : 69 Question Id : 61547511433 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The book “Political Order in Changing Socleties” 1s written by:

(1) Lucian Pye (2) G.A. Almond

(3) Ernest Barker (4) S.P. Huntington

Options:
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T i STt T S st s g o o 27 P epp
(1) T (2) .U e

(3) = AW (@) TEA. F=

Options:

E1547544573. 1
E1547544574. 2
61547544575 3
61547544576, 4

Question Number : 70 Question Id : 61547511434 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The book “Aspects of Political Development” 1s written by

(1) Lucian Pye (2) G.A. Almond
(3) G.H. Sabine (4) Maurice Duverger
Options:

B1547544577. 1
61547544578, 2
61547544579, 3
61547544580, 4

Question Number : 70 Question Id : 61547511434 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T “HAEIREE 3F Udihe Saediee” e gr fordl s 27

(1) i s (2) .U FHAiems
(3)  Sft.Uw. HemE (4) Wit g
Options:

61547544577, 1
61547544578, 2

1 CcC A A A7y —
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According to G.A. Almond comparatively “Homogenous culture” 1s found 1n Yourpersonal Exams ouide
(1) Developed countries (2) Underdeveloped countries
(3) Developing countries (4) Least developed countries

Options:

61547544551, 1
E1547544582. 2
E1547544583. 3
61547544584, 4

Question Number : 71 Question Id : 61547511435 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

1.1, @S (G.A. Almond) F AT HAE TEHMA ATTEA HEd I w1l 2 7

(1) =i 2o ° @) iR i
(3) Tt 29 | 1) o 4B sieifreiin 2
Options:

61547544581, 1
E1547544582. 2
E1547544583. 3
51547544584, 4

Question Number : 72 Question Id : 61547511436 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following 1s not a function of political parties?

(1) Socialisation and Recruitment (2) Interest articulation
(3) Interest ageregation (4) Rule adjudication
Options:

B1547544585. 1
61547544586, 2
61547544587, 3
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3 :
1) i v @) Rt s
(3)  Teal =1 wgEA (4) Tm sfufeE
Options:

61547544585, 1
61547544586, 2
E1547544587. 3
E1547544588. 4

Question Number : 73 Question Id : 61547511437 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following 1s incorrect statement?

(1) Globalisation means internationalization of economy
(2) Globalisation gives emphasis on market economy
(3) Globalization gives rise to international institutions to supervise economy

(4) Globalisation tends to perpetuate parochial culture

Options:

61547544589, 1
61547544590 2
61547544591 =
61547544592 4

Question Number : 73 Question Id : 61547511437 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HeAfefad 9 O & O SAT9F9E Tod 27

(1)  H7diwior =1 9 AY=TTTT T A B

(2) AT AT - ISR WA 3T 7

(3) Ay wUEEEE i HE T g el i waE] 297 E

(4) A T T H e 4T

Options:
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Who had formed the “Society for right to die with dignity™? Pre[ppd
(1) Jal Prakash Narayvan (2) Minoo Masam
(3) EKrishna Avvar (4) Medha Patkar

Options:

61547544553 1
615475445394, 2
61547544535 3
E15475445396. 4

Question Number : 74 Question Id : 61547511438 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FefeiEe 9 o e wmEd wR e 2 S A ferEd = e e

(1) =9 T JEE (2) HF g
(3) =W Fwem (4) HHT I
Options:

61547544592, 1
E15475445394. 2
E1547544535. 3
615475445356, 4

Question Number : 75 Question Id : 61547511439 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who had differentiated between natural and conventional inequality?

(1) Hobbes (2) Locke
(3) Rousseau (4) Bentham
Options:

61547544597, 1
615475445358, 2
E1547544598. 3
51547544600, 4

Question Number : 75 Question Id : 61547511439 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

- - - — N e - =



www.prepp.in

61547544599 3 prepp

6 1 54?5446[:'[:' 4 Your Personal Exams Guide

Question Number : 76 Question Id : 61547511440 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Kyoto Protocol was enforced in :

(1) 1997 (2) 2000
(3) 2005 (4) 2006
Options:

E1547544601. 1
E1547544802. 2
61547544803, 3
61547544604, 4

Question Number : 76 Question Id : 61547511440 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FTET TIEZThic] o TP AT 917

(1) 1997 (2) 2000
(3) 2005 (4) 2006
Options:

615475446801, 1
61547544602 2
61547544603, 3
E1547544604. 4

Question Number : 77 Question Id : 61547511441 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When did International Labour Organization become a specialized agency of the Umit:
Nations Orgamzation?

(1) 1945 (2) 1946
(3) 1947 (4) 1948
Options:

E1547544605. 1
51547544606, 2
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S E o Prepp
(1) 1945 (2) 1946
(3) 1947 (4) 1948

Options:

E1547544605. 1
51547544606, 2
61547544807, 3
51547544808, 4

Question Number : 78 Question Id : 61547511442 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

From legal point of view which of the following 1s called a “soft law™?

(1) Right to Environment (2) Right to Development
(3) Right to Health (4) Right to Privacy
Options:

51547544603, 1
61547544810 2
61547544811, 3
615475446172 4

Question Number : 78 Question Id : 61547511442 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tt zfowm & f=fafega 7 % 770 979 & (Soft Law) 1 =11 7 7

(1)  THE0 1 AT (2) o= 1 sAtaEn
(3) ST ] AR (4) =0 =1 AlaEn
Options:

E154754460%3. 1
61547544810 2
61547544611, 3
615475446172, 4

Question Number : 79 Question Id : 61547511443 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical
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61547544816, 4

Question Number : 79 Question Id : 61547511443 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TR il T T 9 ° 7S A7

(1) 1945 (2) 1946
(3) 1947 (4) 1948
Options:

E1547544613. 1
61547544814, 2
61547544615 3
61547544616, 4

Question Number : 80 Question Id : 61547511444 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

On which of the following date. India joined as a member of the United Nations Hum:
Rights Council?

(1) 1 August 2019 (2) 1 June 2019
(3) 1 January 2019 (4y 1 July 2019
Options:

E1547544617. 1
E1547544618. 2
615475446815 3
61547544620, 4

Question Number : 80 Question Id : 61547511444 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Tefertaa fafust 9 = 0 fafy =1 9va F5gw T2 AFa AfgHR THeg F T 54 917

(1) 1 3T 2019 (2) 134 2019

(3) 1 S= 2019 (4) 1 SeIE 2019
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Queetl%n Number : 81 Question Id : 61547511445 Question Type: MCQ Option Shuffling : No Display Qu&stio'iﬂeappe
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Your Personal Exams Guide

The term “Sanskritisation” was coined by

(1) M.IN. Srinivas
(2) M.S. Golwalkar
(3) S.P. Mukherjee
(4) Andre Beteille
Options:
15475446211
E1547544e22. 2

E1547544823. 3
B1547544824. 4

Question Number : 81 Question Id : 61547511445 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

el wres =i T=47 foheH =1 i 7

(1)  TH.TA. HAHaE
(2) TH.UA. TadeH

(3)  TEHL gES

-

4 T

Options:

61547544621, 1
61547544622 2
61547544523 2
61547544524 4

Question Number : 82 Question Id : 61547511446 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which Article of the Indian Constitution provides power to the President to promulga
ordinances?

(1) Article 123 (2) Article 221
(3) Article 222 (4) Article 223
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Correct Marks: 2 Wrong Marks: 0 'repp

o

(1) =¥ 7=a8 123 (2) TT==2 22
(3) =37 222 (4) =33 223
Options:

61547544625 1
E154754482E. 2
B1547544827. 3
61547544828, 4

Question Number : 83 Question Id : 61547511447 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following statements about the powers of the President 1s correct?

(1) He presides over the meetings of the Zonal Councils
(2) He 1s the head of the Inter-State Council

(3) He can disqualify a member of Parhament under Art. 102 on the recommendation ¢
the Election Commission

(4) He can declare national emergency at his discretion

Options:

E1547544629. 1
E1547544630. 2
51547544631, 3
61547544837, 4

Question Number : 83 Question Id : 61547511447 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
WO il TR F 9y 0 gy 9 9 i 91 w599 95 2 7
(1) = &= (F9) 9t 1 S2 § F359997 % 2
(2) = Fears gty % wreme 2
(3) = Trata s Fi sgeEn o sese- 102 % Hdaid R 568 5 1 SEr wiftd # ad |

(4)  F A9 AR T AT S 5 HRd
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Who defined Public Admimstration as “the art and science of management apphed-to-t
affairs of the state™

(1) L.D. White (2) H. Simon
(3) D. Waldo (4) Pfiffner and Presthus
Options:

61547544633, 1
61547544634, 2
E1547544635. 3
E1547544636. 4

Question Number : 84 Question Id : 61547511448 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o5 T WA ST % A R WA WeeH e iR e F w9 9 gt e ot

(1) L Py O i (2) U=, GEE
(3) = a9es (4) Toe vg TEyg
Options:

51547544633, 1
615475446834, 2
61547544635 3
61547544636, 4

Question Number : 85 Question Id : 61547511449 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The sequencing of communication process 1n organisation 1s:

(1) Sender, message, receiver, encoding

(2) Message, channel, feedback. encoding

(3) Sender, encoding, decoding. receiver
(4) Sender. encoding, message, channel
Options:

61547544637, 1
E1547544638. 2

L ol Bl el B e e T e ]
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W | TE0 IR AT 7o 'repmp
(1) 9, a9, WHEFAT, T (2) H2m, =4, Figeaw, T
(3) Y, HhaA, ek, STl (4) T9F, Hehad, T, =

Options:

61547544637, 1
61547544638, 2
61547544639, 3
E1547544640. 4

Question Number : 86 Question Id : 61547511450 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who defined leadership as “the ability of a manager to induce subordinates to work with ze
and confidence™?

(1) Koontz and O'Donnell (2) Chester Bernard
(3) MLP. Follet (4) Peter Drucker
Options:

E1547544641. 1
61547544842 2
61547544843 3
61547544644, 4

Question Number : 86 Question Id : 61547511450 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

o gfrerieg foran ?

(1)  Fod =R 3 3= (2) = S
(3) At wieE (4) et s
Options:

61547544641, 1
E1547544642 2
E1547544643. 3
61547544644, 4
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Under which constitutional provision. elections to Panchayvati Ra) Bodiez are Gon ‘
India?

(1) Article 243 J (2) Article 243 K
(3) Article 243 L (4) Article 243 M
Options:

61547544645 1
61547544648, 2
E1547544847. 3
E1547544648. 4

Question Number : 87 Question Id : 61547511451 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A | G T HEE] & 6 At e g e ST e =

(1) w793 243 J (2) =#g=98 243 K
(3) =T 243 L (4) TT==5 243 M
Options:

E1547544645 1
E154754464dE. 2
61547544847, 3
61547544645, 4

Question Number : 88 Question Id : 61547511452 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Name the editor of the book. “Towards a New Public Administration-Minnowhrook™ :

(1) James Charlesworth (2) Frank Marimi
(3) W.F. Willoughby (4) Frank J. Goodnow
Options:

61547544649 1
61547544650, 2
E1547544651. 3
E1547544652. 4
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Q) e e (2) % miE
(3) o], UF. T (4) FF . TSR

Options:

61547544649 1
61547544650, 2
E1547544651. 3
E1547544652. 4

Question Number : 89 Question Id : 61547511453 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which constitutional provision provides for formation of a Gram Sabha?

(1) Article 243 A (2) Article 243 B
(3) Article 243 C (4) Article 243D
Options:

61547544653, 1
61547544654, 2
61547544655, 3
E1547544656. 4

Question Number : 89 Question Id : 61547511453 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

F O THGIHE TG O79 T4 S T3 H gatad 27

(1) 9<% 243 A (@) =iz 243 B
(3) Cﬂ:[__,vE_' g 243 C 4) ﬂﬂﬁ?ﬁ’ 243 D
Options:

61547544653, 1
61547544654, 2
61547544655, 3
E1547544E5R &
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Which of the following types of policy evaluation lays emphasis on determining the suece
level in achieving its basic objectives?

(1) Programme Strategy Evaluation (2) Programme Impact Evaluation
(3) Project Monitoring (4) Cost-benefit analysis
Options:

615475446857, 1
61547544658, 2
61547544659, 3
E15475446E60. 4

Question Number : 90 Question Id : 61547511454 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fo=ferliga 8 @ 9 ° TR W1 Ald goah 369 ATERYd 3291 UH T el % = 1 M we
w2 27

(1)  FEFEE-TH e (2) FEFA-THE FeATHA

(3) i R (4) = e

Options:

615475446857, 1
61547544858, 2
61547544659, 3
61547544660, 4

Question Number : 91 Question Id : 61547511455 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following two are correct?

(a) According to August Comte, the principal methods are observation. experiment a:
comparison

(b) According to Bluntshli, the true methods are philosophical and historical

(c) Very few thinkers are pragmatic and inductive methods 1n contemporary times

(d) John Rawls had used deductive and dogmatic methods

Choose the correct options :
(1) (a) and (b) (2) (a)and (c)



www.prepp.in
Queetl%n Number : 91 Question Id : 61547511455 Question Type: MCQ Option Shuffling: No Display Queﬂio'{leppe
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FeAfAfEd 3 & F9E 31 a8 7 7
(a) ST FR T STEN, U, T, 3 3o g At F

Your Personal Exams Guide

(€)  THHEH A9 ° 95d FA [SE0F =EEER] 9 AP (siFea) At w5 e w3
(d) =i Tem A Fmarens a gamEl fafia = swe B an
(1) (a) = (b) (2) (a)d(c)
(3) (a)= (d) (4) (b)d (c)
Options:

61547544661, 1
61547544662, 2
E15475448E3. 3
E1547544664. 4

Question Number : 92 Question Id : 61547511456 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are the arguments for women's equality?

(a) Inferiority of women to men 1s socially constructed and has no legal justification

(b) Non-application of the principles of liberty and equality to the conditions of women
paradoxical

(c) Women are naturally inferior to men

(d) Women's inequality survived because 1t was justifiable

Choose the correct option from below :

(1) (a). (b) and (c) (2) (a). (b). (c) and (d)
(3) (a) and (b} (4) (c)and (d)

Options:
61547544865,

E1547 54486,
E1547 544867,
61547544868,

[ N S

N s omdmom Al vl mtr o YD) A\ tmrd i 1L Al s AT AT 11 A, £\ s e miom ™M i vemom s AN IS ANt o Ol L€ i o MmN el e s Ny s ot Ny vomm e e 0 A7



www.prepp.in

Fesferfign & 7 @ iz 1w H6 T A7 prepp
(@) i ge A iz i f, T g S o 2, 9 e w8 st T

(b) ofe o @AEaT % fagea Afeenst it feufa w =) 7 =9 faranar 2

(c) Tl WHaH =9 9 TEA H 4 F)

(d)  HEET-TEHEAT S W1 T T TS SEE T 9T

FefetEd 3 ° T 9w 94
(1) (a). (b) 9 (c) (2) (a), (b), (c) T (d)
(3) (a) ¥ (b) (4) ()9 (d)

Options:

51547544665, 1
61547544866, 2
61547544667, 3
615475446658, 4

Question Number : 93 Question Id : 61547511457 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following pairs are correctly matched?

(a) John Rawls — Egalitarian

(b) Plato — Idealist

(c) Mary Wollstonecraft — Communist
(d) Gramsci — Feminist

Choose the correct answer from the options given below :

(1) (a) and (b) (2) (b)and (c)
(3) (c) and (d) (4) (c)and (a)
Options:

61547544669 1
61547544670, 2
E1547544671. 3
E1547544872. 4

Question Number : 93 Question Id : 61547511457 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(@) i Tied — HHAEE]
{b} ‘ ~] ] ;ﬁ“.‘ra :i

(c) Wil A - FEME (ArEET)

(d)  TmEl - AEEED

Fr= 2w o et 9 @ wE I A

(1) (a) = (b) (2) (A (c)
(3) (e) 3 (d) (4) (c)d(a)
Options:

E1547544669. 1
E1547544870. 2
61547544871, 3
61547544672, 4

Question Number : 94 Question Id : 61547511458 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following two are correct regarding the adoption of inductive method?

(a) Plato
(b) Machiavelll
(c) Thomas Aquinas

(d) Thomas Hobbes

Choose the correct options :

(1) (a) and (b) (2) (a)and (c)
(3) (b} and (d) (4) (a)and (d)
Options:

E1547544673. 1
61547544874, 2
61547544675, 3
61547544676, 4

Question Number : 94 Question Id : 61547511458 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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AT T = T 0 9H § Tei-ad Feieiagd 9 8 i 9 21 9FeT Tal 27 ouresoapomscuee
(a) =il
- e
(c) G TFLTH
(dy  wm=E =

(1) (a) = (b) (2) (@3 (e
(3) (b) A (d) (4) (a)=(d)
Options:

61547544673 1
E1547544874. 2
E1547544875. 3
61547544876, 4

Question Number : 95 Question Id : 61547511459 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following two are correct?

(a) Plato laid more emphasis on duties than rights
(b) His 1deal state was merely an 1dea not reality
(c) He was not a feminist

(d) He did speak about class state

Choose the correct option :

(1) (a) and (b) (2) (a) and (c)
(3) (a) and (d) (4) (b) and (c)
Options:

61547544877, 1
61547544675, 2
61547544673, 3
E1547544680. 4

Question Number : 95 Question Id : 61547511459 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) =2l = At Fi o g Fasa w AtE 5 2|

(b) T AAEH TS FaA UF [G=EW U1, 7 R areataedn
(c) TF TAHEE TR 97
(d) 38 = =g i wa A

TH fawea 94

(1 (@a(b) (2) (@3 ()

(3) (a) @ (d) (4) ()= ()
Options:

61547544677, 1
E154754467E. 2
E1547544673. 3
51547544680, 4

Question Number : 96 Question Id : 61547511460 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following writers are from Italy?
(1) Vilfredo Pareto
(11) Gaetano Mosca
(1) Robert Michels
(1v) C. Wright Mlls

Codes :

(1) (1) and (11) (2) (1) and (111)

(3) (1) and (1v) (4) (m) and (av)
Options:

615475446851, 1
61547544682, 2
61547544652, 3
E1547544854. 4

Question Number : 96 Question Id : 61547511460 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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EAfeTigd § | i § ©i@® 2l 7 7
5 S #

(11) 291 JI56

(i) = fHEEE

(v) ©t. 7=z fgem

o=l TF4 E_Fr :

1 @I (2) @3 ()

(3) (1) 3 (iv) (4) (1) 3 @)
Options:

61547544651, 1
E1547544882. 2
E1547544883. 3
61547544854, 4

Question Number : 97 Question Id : 61547511461 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Agganna Sutta deals with:

(a) Ongin of life

(b) Orgin of social order and castes
(c) Origin of secularism

(d) Orgin of six fold policy

Select the correct answer from the code given below :

(1)  (a)only (2) (b) only
(3) (a) and (b) (4) (a). (b) and (d)
Options:

615475446885, 1
61547544656, 2
61547544687, 3
E1547544688. 4

Question Number : 97 Question Id : 61547511461 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



www.prepp.in

AT T (Agganna Sutta) FREE Ffaa 27 'repp

(a) = il 39
(b)  THTH =HETHT U FAGE] i 39
(c) o Fderar & e

(d) == s T (o wes) Fifa Fi s

Hi=t fau 1 faheat 0 ° =R 1 =2 Fifau

(1) = (a) (2) = (b)

(3) (a) 3 (b) @) (a). (b) 3 (d)
Options:

61547544685, 1
61547544686, 2
61547544657, 3
E1547544688. 4

Question Number : 98 Question Id : 61547511462 Question Type: MCQ Option Shuffling: No Display Question Number : Y e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ram Manohar Lohia was opposed to:
(a) Capitalism

(b) Communism
(c) Socialism
(d) Decentralisation of powers

Select the correct answer from the options given below :

(1) (a)and (b) (2) (c) and (d)
(3) (a). (b) and (c) (4) (b). (c) and (d)}
Options:

615475446855, 1
61547544630, 2
61547544631, 3
E1547544832. 4

Question Number : 98 Question Id : 61547511462 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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THHATEL e o Tt 97
(a)  IEERE
(b) T=EE

(c) HHTSETS
(d) T T A

Hi= 20 T T § | = w1 99 e

(1)  (a) 31 (b) (2) (e) #W (d)

3)  (a). ®) =H () 4)  (b). (c) =77 (d)
Options:

61547544659, 1
61547544630, 2
515475448391, 3
61547544852, 4

Question Number : 99 Question Id : 61547511463 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which statements are true about an Election Commissioner?

(a) He 1z appointed by President

(b) He can be removed from office on same grounds as a Judge of Supreme Court

(c) He can be removed by the President only on recommendations of Chief Electi
Commissioner

(d) His term of office 1s six vears or upto the age of 65 whichever 1s earlier

Choose the correct answer :
(1) (a), (b)
(2) (b). (d)

(3 (a). (e)
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Queetl%n Number : 99 Question Id : 61547511463 Question Type: MCQ Option Shuffling : No Display Qusno'meappe
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Your Personal Exams Guide

At o F 90 ° feitEs § 7 w0 8 afames T8 R Y

(a) s fghe Tgatd grr i S R

(b) I Il YW W 3TH US © FEEN W bl 7 SH Hared A % A |
(©)  HEA T ATTE i HEAl % ATUR W F Iew TLU g1 22 W1 dohal 2

(d) 9% U2 F FEFE T2 99 AYDT 65 99 Hl AG 7F w1 2 - A H TEed )

=1 TaeT =1 994 Hirau

(1)  (a). D)
2 (.
(3) (a). (c)

(4) (a). (c). (d)

Options:

61547544693, 1
61547544694 2
61547544695 o
61547544896 4

Question Number : 100 Question Id : 61547511464 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Which of the following statements about the defimtion of Welfare State are correct.? ..o oomscus

(a) It 1s a state that provides for its citizens a wide range of soclal services

(b) It 1s a compromise between communism on the one side and unbridled individualisn

on the other
(c) Welfare state sets a pattern for any humane and progressive soclety

(d) Welfare state guarantees a muimimum standard of subsistence without removing

incentives to private sector

Choose the correct option from below :

(1) (a). (b) and (c)
(2) (b). (c) and (d)
(3) (). (b). (c) and (d)
(4 (a). (b) and (d)

Options:

61547544697, 1
61547544698, 2
61547544599 2
61547544700, 4

Question Number : 100 Question Id : 61547511464 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) T U UG T EET 2 A A9 AR H e TR W A SaT 0esd Fa 2

(b)  FE UF AN WEEE U4 ZH AR AEEE =i & s e 2

(c)  FeawrErl u=d fFl i vHR % gEaiEa va wiiheie U % 60 v e S H

(d) TRl T S A % IoUeRl (SHiesH ) i mem AT SEm-Tiate % =man ' R Tl g

2
L]

Hr=t f2u w1 el | § E =9 i
(1)  (a). (b) 37 (c)

@ (o). (o) H(Q)

(3)  (a). (b). (c) M (d)

4  (a). (b) 3 ()

Options:

61547544697, 1
61547544698, 2
61547544599 2
61547544700, 4

Question Number : 101 Question Id : 61547511465 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Which of the following two statements regarding World Trade Organization are correct?:c.«

(a) It 15 the only international orgamization dealing with global trade rules betwes
nations

(b) It was established 1n 1996

(c) Its Headguarters 1s 1n Geneva

(d) It emplovs some 680 staff

Choose the correct options :

(1)  (a)and (b)
(2) (a) and (c)
(3)  (c)and (d)
(4)  (a)and (d)

Options:

61547544701, 1
61547544702 2
E1547544703. 2
61547544704, 4

Question Number : 101 Question Id : 61547511465 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(@) 9% THAE HUSHE T 7, | TP % s favd S e @ w7
(b)  THHI T 1996 | i M= |
(c) Eﬂﬁwﬁm {Geneva) g 2|

(d)  zEE T 630 WF B A

e e w99

(1)  (a) 31 (b)
(2)  (a) 3 (¢)
(3 (¢) A (d)

4 (a) @)

Options:

61547544701, 1
61547544702 2
E1547544703. 2
61547544704, 4

Question Number : 102 Question Id : 61547511466 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Which of the following two are correct regarding Right to Development? ersoncl Exarms ouide

(a) The Declaration on the Right to Development was adopted by General Assembly in
1986

(b) This 1= an inalienable human right

(c) It found no place in the 1993 Vienna Declaration and Programme of action

(d) In 1990 the Commission on Human Rights established a working group to monitor its
progress

Choose the correct options :

(1) (a) and (b)
(2) (b) and (c)
(3)  (c) and (d)
(4) (a) and (d)
Options:
E1547544705.
E1547544706.

E1547544707,
E1547544708.

o LIRS

Question Number : 102 Question Id : 61547511466 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) Ta=m & s1fushe = GT9om U9 A 99 1986 H HIGWOr AT § 37 o T Al

(b)  TE FTHEET " ATET 7

() 38 1993 fa=m1 graon va AT § FiE FE Tai Wl o)

(d) =9 1990 # HHE ATUHAT F AT A 36 FHEFA I A 79 v FE GE F e i)

Ta faFeg = 999 9

(1)  (a) 77 (b)
2  (b) F W (0)
(3) (o) ¥ (d)

@  (a) 3T (d)

Options:

61547544705, 1
61547544706, 2
61547544707, 2
E1547544708. 4

Question Number : 103 Question Id : 61547511467 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Which of the following two statements are true regarding Indo-Pak relations on E:a&hfﬂmed

(a) The Security Council first discussed the 1ssue of Jammu and Kashmir in 1948

(b) A summit meeting took place 1n 2004 1n Islamabad between A.B. Vajpavee and Perv

Muzharraf
(c) A bus service across the ceasefire line was inaugurated 1n 2006
(d) Terrorist attack on Samjhauta Express was made 1n 2007

Choose the correct options :

(1) (a) and (b)
(2) (a) and (c)
(3) (a) and (d)

(4) (c) and (d)

Options:

61547544709, 1
61547544710 2
61547544711, =
61547544712 4

Question Number : 103 Question 1d : 61547511467 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(@)  ued uiteg A a9 1948 § YEell AW WH—FHIHE + g2 9w == i o)
(b) W AT R AT O % s AN 2004 H sEerAwE § U e ae 54 91|
(©)  Tgim T % AW UF 96 HaAl F GAEH =T9 2006 F 5T 911

(d =9 2007 § THSET CFATE W AEHRATE 70T 5HAT 91|

1)  (2) 3 (b)
@)  (a) 37 (o)
(3) (a)FR (@)
@ (o) #FR (@)

Options:

61547544709, 1
61547544710 2
£1547544711. 2
61547544712 4

Question Number : 104 Question Id : 61547511468 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Which of the following two statements are correct regarding Chinese policy of.Theory

Palm and five fingers"?

(a) It includes Bhutan and Nepal

(h) It includes Arunachal Pradesh, Sikkim and Laddakh
(c) It includes Mizoram and Manipur

(d) It includes Tripura and Nagaland

Choose the correct options :

(1) (a) and (c)
(2)  (a)and (d)
(3)  (a)and (b)
(4)  (b)and (c)

Options:

61547544713, 1
61547544714 2
61547544715 =
61547544716, 4

Question Number : 104 Question 1d : 61547511468 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(d) =Ed Fum Wi s i #

w# fasen =1 == fifsm
1)  (a) 3 ()

(2)  (a) 3T (d)

(3) (a) 3 (b)
4  (b) =W (c)
Options:

615475447131
61547544714 2
61547544715 3
61547544716, 4

Question Number : 105 Question Id : 61547511469 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Which of the following statements are true regarding the composition of Rajva S

(a) Not more than 238 members represent States and Union territories in Rajva Sabha

(b) Representatives of Puducherry in the Rajya Sabha are elected
(c) Third Schedule of the Constitution deals with the allocation of seats in Rajva Sabha f
States

(d) Fourth Schedule of the Constitution deals with the allocation of seats in Rajya Sabh
to states

Choose the correct answer from the options given below :

(1) (a) and (b)
(2)  (b)and (c)
(3) (a) and (c)

(4)  (a). (b) and (d)
Options:
615475447171
61547544718 2
61547544713 3
61547544720, 4

Question Number : 105 Question Id : 61547511469 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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T O F A F gag § fefefad § O #9 § w9 md 27

(a) TS H91 § 238 H FATTE W USA AR TG U G 7 Ui w5 A
(b) =% =W H Uz * ufatty fatfEe 2 E)
() =i i d g 7= @9 § T F #E % A= ¥ Feiad 2

(d)  wfaue i =l SEE T w9 H T R 6 F e W gEid 2

H= fau u fepet B wE I 9T

(1)  (a) 317 (b)
(2)  (b) 3 (¢)
(3)  (a) 3 (¢

@)  (a). (b) 37 (d)

Options:

61547544717, 1
61547544718 2
61547544719 2
61547544720 4

Question Number : 106 Question Id : 61547511470 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

On which of the following grounds Writ of Certiorari can be 1ssued by the Judiciary?

(a) Lack of jurisdiction
(b) Locus Standi

(c) Excess of jurisdiction
(d) Error of law

Choose the correct option from below :
(1)  (a) (b)and () (2) (a). (b) and (d)
(3) (a) and (b) (4) (a)and (c)
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Correct Marks: 2 Wrong Marks: 0 'repp
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(a)  e&ETieERT =y

(b) T FH T ATER

(c)  emiem 1 st
(d) Tafa =i =
FeAfeatEa 5 T fawes 9o

1) (a). (b) 3 (c) (2) (a). (b) = (d)
(3)  (a) 377 (b) (4) (a) = (c)
Options:

615475447211
61547544722 2
61547544723 3
E1547544724. 4

Question Number : 107 Question Id : 61547511471 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following two statements are correct regarding Preamble of Indi:
Constitution?

(a) Justice-social, economic and political

(b) Liberty of thought. expression, belief, faith and worship

(c) Equality of status. character and of opportunity

(d) Fraternmity assuring the dignity and respect of the individual

Choose the correct option :
(1) (a) and (c) (2) (a) and (d)
(3) (c) and (d) (4) (a)and (b)

Options:

61547544725,
61547544726,
61547544727,
61547544728,

[ N

Question Number : 107 Question Id : 61547511471 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical
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(d)  =afw =1 AfABT 3T T F e 39 50 SN

1)  (a)F R () (2) (a) W (d)
(3)  (c) 3 (d) (4) (a) F (b)
Options:

E1547544725. 1
E1547544726. 2
B1547544727. 3
61547544725, 4

Question Number : 108 Question 1d : 61547511472 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The positive impact of Liberalisation are:

(a) Forelgn investment

(b) Increased production

(c) Increased unemployment
(d) Technological advancement

Choose the right answer :

(1) (a). (b). (d) (2) (b). (c)
(3) (a). (e) 4y (b). (c). (a)
Options:

6154754472591
61547544730, 2
61547544731, 3
E1547544732. 4

Question Number : 108 Question Id : 61547511472 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)  Taesft Fam

(b) == AT TS
(© =@ 72 S
(d)  TrEnTTERE A

TE I g

(1)  (a). (b) FT () (2) (). ()
(3) (a). (c) (4) (). (c). (a)
Options:

E15475447239. 1
E1547544730. 2
61547544731, 3
61547544732 4

Question Number : 109 Question 1d : 61547511473 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Rigg's Fused model 1s based on:

(a) dependence on agriculture

(b) attainment value 1n society

(c) domination of roval family

(d) economic system based on barter system

Choose the right option :

(1) (a). (c). (d) (2) (a). (b
(3) (b). (c), (d) (4) (a). (b). (c)
Options:

615475447331
61547544734 2
61547544735 3
E1547544736. 4

Question Number : 109 Question Id : 61547511473 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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o1 = S Hisd EfatEd § O e T s 77 'repmp
{aj I-_l" 'I:IT L s .
(b) TETE ° IUEfeg goF (TEAHE 979)
() 79 9iEn # 99

(d) = Talma sy o s i S

(1) (a). (c). (d) (2) (a), ()
(3) (b). (c). (d) (4) (a). (b). (¢)
Options:

E1547544733. 1
61547544734 2
61547544735 3
61547544736, 4

Question Number : 110 Question Id : 61547511474 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which are the themes of New Public Management?

(a) Adoption of private sector practices
(b) Improved reporting and monitoring mechanism
(c) Performance targets

(d) Adoption of pubhc sector practices

Choose the correct option :

(1) (a). (b) (2) (a). (b), (c)
(3) (b). (c). (d) (4 (e). (d)
Options:

61547544737, 1
E1547544738. 2
E1547544739. 3
B1547544740. 4

Question Number : 110 Question Id : 61547511474 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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;;WWTWHHWUW?f 'repmp
(a) Tl & o Ar-aden (S H S e
(b)  FuHE ot & e T
() v @5
(d)  TEFAF HF T AT (U ) AT

(1)  (a) (b (2) (a). (b). (c)
3 (b). (e). (d) 4) (o). (d
Options:

E1547544737. 1
61547544738, 2
61547544735 3
61547544740, 4

Question Number : 111 Question 1d : 61547511475 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The Comptroller and Auditor-General of India can undertake evaluation studies on the bas:
of which of the following?

(a) On 1ts own 1nitiative
(b) The request of financial committees
(c) Directive 1n legislation

(d) The request of the Orgamzation and Methods division of a Mimistry

Choose the correct option from below :

(1) (a). (b). (c) and (d) (2) (a). (b) and (d)
(3) (b). (c) and (d) (4) (a). (b) and (c)
Options:

61547544741, 1
E1547544742 2
E1547544743. 3
B1547544744. 4

Question Number : 111 Question Id : 61547511475 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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A o = 3 wE o afes et qﬁﬁm%mﬂﬂqtq?qmgmqﬂm!repmp
(a) T FHITEA R
(b) foftm ofafa =+ swga ™
(c) =TT <+ g w
@ s i e (fores fefo) e

FeteAtiag faFeal 9 °§ =31 fae ﬂfl .
(1) (a), (b). (c) 7 (d) (2) (a). (b)d(d)
(3) (b). (c) = (d) (4) (a). (b)d (c)

Options:

61547544741,
61547544742,
61547544743,
61547544744,

[ N Y

Question Number : 112 Question Id : 61547511476 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following statements about the sigmificance of public policy 1s correct?

(a) Public policies help 1n achieving socio-economic development
(b) Public policies help maintain national unity and integrity
(c) It's basic purpose 1 to serve individual interest and solve public problems

(d) Public policy aims at shaping the society for 1its betterment

Choose the correct option from below :

(1)  (a). (b). (c) and (d)
(2) (b). (c) and (d)
(3)  (a). (b) and (d)

(4)  (a). (b) and (c)
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A H1fd = TUHA F A § FEAegd F99 0 H F5 § oe 8 7
(a) = id SETE - e § "EaE 2

(b) I A T T A SESA F S TEH AR 2

(©)  TE A I5EvA AAITE (el il FAl G WEAHH GHEATAT H TAEGE 2

(d) o id T 59T FETE F SEH A F o0 giEd F A

e fau = fomheat | # = =4

(1)  (a).(b).(c)=(d)
2)  (b). ()T (d)
(3) (a).. (@A

(4) (a). (b) 7 (c)

Options:

61547544745, 1
61547544746 2
61547544747 o
61547544745 4

Question Number : 113 Question 1d : 61547511477 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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73" Amendment of the Constitution seeks to provide which of the following to tﬁpe&a

Raj Institutions?

(a) Constitutional status
(b) Financial autonomy
(c) Empowerment of marginalized sections of the rural population

(d) Decentralised planning

Choose the correct option from below :

(1) (a). (b) and (c)
(2) (a). (b). (c) and (d)
(3) (b). (c) and (d)

(4) (a). (b) and (d)

Options:

61547544749, 1
61547544750, 2
61547544751 2
61547544752 4

Question Number : 113 Question Id : 61547511477 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) TagE 25 (Status)
(b) TEEE =EE
(¢)  WTHI W=l = J=d T HIE

@ et s
fefefEa 5 5 =9 faseT =4

(1) (a). (b) @ (c)
(2) (a). (b). (c) = (d)
(3) (b). (c) & (d)

4 (). (d)F(d)

Options:

61547544749, 1
61547544750, 2
61547544751 =
61547544752 4

Question Number : 114 Question Id : 61547511478 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Which of the following are the salient features of Draft National Water Policy 20 ?Fepp

onal Exams Guide

(a) Setting up of Water Regulatory Authority

(b) Incentivisation of recyele and re-use
(c) Commumty participation in managing the water resources projects
(d) Water users association should be given statutory powers

Choose the correct option from below :

(1) (a). (b) and (c)
(2)  (a). (b). (c) and (d)
(3) (b). (¢} and (d)

(4) (a). (b) and (d)

Options:

61547544753, 1
61547544754 2
61547544755 o
61547544756 4

Question Number : 114 Question 1d : 61547511478 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) w1 Tt wiasr i g

(b) T TAEHT I [IITAN H TeETET BT

() == mETeE F TS % TE-TEE | AeEE qriE

(d) 9 ITETTERAT UHITEUIE 97 SR TEE = S =S
= fau T d T wE fawey gfw

(1) (a). (b) 3 (c)
2 (a). (b). (c) T (d)
(3) (b, () #F ()

4 (a), (b) IR ()

Options:

61547544753, 1
61547544754 2
61547544755 o
61547544756 4

Question Number : 115 Question 1d : 61547511479 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Which of the following statements about National Health Policy. 2017 are mrre-ztr repp

Your Personal Exams Guide

(a) It aims to ensure availability of 2 beds per 1000 population

(b) It proposes free drugs, free diagnostics and free emergency health care services in a

public hospitals
(c) Reduction of total fertility rate to 2.1 at national and sub-national level by 2025

(d) Reduce mortahity rate of children under 5 years of age to 23 (per 1000) by 2020

Choose the correct option from below :

(1)  (a). (b) and (¢

(2)  (a). (b). (c) and (d)
(3) (a) and (b)

(4) (c) and (d)

Options:
E1547544757.

E1547544758.
E1547544759,
61547544780,

[ N

Question Number : 115 Question Id : 61547511479 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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fAfeiEa § & #i9 9 w99 79 S Jid, 2017 F 98 5 T A7

(a)  3E% 3299 Ui 1000 I SHEE W 2 94 i Iueisadl gHvEd w0 2

(b) T HEE TFESAF FAEA § 99 2954, §F FeE vd R AT G T

FaT 2
(€ 2025 7% TYE U9 J0-TYA TH T TN T FHA1 T FH FH W 2.1 W TA 2

(d) 20207 5 =9 F 23 99 F AF F = 9 A= F Geg ZH FH FAT 2
= 729 ™ faweal 8 ° oE w9 W

(1)  (a). (b) 3 (c)
2 (). (b). (c) 3T (d)
(3)  (a) 3 (b)

4)  (c) ¥ (d)

Options:

61547544757 1
61547544758, 2
61547544759 5
61547544760, 4

Question Number : 116 Question Id : 61547511480 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Match List I with List IT :

ListI
(a) Marx’s theory of Alienation (1)
(b) Alhenation and objectification (11)
(c) Contemporary theory of Alienation (111)

(d) One-dimensionalisation : studies I (1v)
the 1deology of advanced industrial

soclety

Choose the correct answer:-

(1) (a)-(1). (b)-(11), (c)-(11). (d)-(1v)
(2) (a)-(1). (b)-av). (e)-(11). (d)-(11)
(3) (a)-(v). (b)-(11), (¢)-(1), (d)-(111)
(4) (a)-(v). (b)-(11). (c)-(11). (d)-(1)

Options:

61547544761, 1

154754472 2

E15475447E3. 3
E1547544764. 4

List IT
Herbert Marcuse
Erich Fromm
George Lukacs

Economic and
Manuscripts of 1844

Prepp

r Personal Exams Guide

Philosophi

Question Number : 116 Question Id : 61547511480 Question Type: MCQ Option Shuffling: No Display Question Number : Y

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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Arferr-I arferar-11
(@) "7 w1 fEEE-faga  (FH ATF Q) FEc AR
(b) ToEEe va (i) vfF w=m
() TormsyA = wHhTE g (i) = T
(d vF FEE =t FEE it we (v) sl v el g A7 1844

= EEREaT T e

ool faFe F1 =997 F1 :

(1) (a)-(1). (b)-(11), (¢)-(111), (d)-(1v)
(2) (a)-(1), (b)-(1v). (c)-(111). (d)-(i1)
(3) (a)-(v), (b)-(11), (c)-(1). (d)-(111)
(4) (a)-(1v). (b)-(111). (¢)-(11). (d)-(1)

Options:

51547544761, 1

51547544762, 2

61547544763, 3
61547544764, 4

Question Number : 117 Question 1d : 61547511481 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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List I List IT
Thinker Work
(a) Jai Prakash Narayan (1)  Salt Taxation in India
(b) Ram Manohar Lohia (1) The Reconstruction of religious
thought 1n Islam
(c) Muhammad Igbal (m) Why socialism
(d) Baram (1v) Fatwo-I-Jahandan

Select the correct option from the given below :

(1) (a)-(1m1), (b)-(1). ()-(i1), (d)-(1v)
(2) (a)-(11), (b)-(111). (c)-(1v), (d)-(1)
(3)  (a)-Q). (b)-(11), (c)-(m11). (d)-(1v)
(4) (a)-(1v). (b)-(1). (c)-(11), (d)-(111 )

Options:

61547544765, 1
61547544766 2
61547544767, 2
E15475447E8. 4

Question Number : 117 Question Id : 61547511481 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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i Ea | ATferl-11
(a) SETHE TEET (i) ®ee HETHE 39 stsa1 (Salt Taxation i
India)
(b) TH HATEL =i (i) & fommsm s fefim a1 s=m
(c) H=3 ThaT (iii) = TvEEEE (Why Socialism)
(d)y = (iv) wZai-3-FeMer! (Fatwo-i-Jahandari)

Hefefad 3 9 921 e = =9 1

(1) (a)-(111). (b)-(1). (¢)-(11). (d)-(iv)
(2) (a)-(11), (b)-(111). (c)-(v). (d)-(1)
(3 (a)-(). (b)-Gi). (c)-(iii). (d)-(iv)
4 (@-av), (0b)-Q). (e)-(), (d)-(u1)

Options:

61547544765, 1
61547544766 2
61547544767, 2
61547544768 4

Question Number : 118 Question Id : 61547511482 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Match List I with List IT : 'repp

ersonal Exams Guide

List I (Thinker) Last IT (Work)
(a) Mary Wollstonecraft (1) The Wretched of the Earth
(b) Gramesci (1) Political Liberalism
(¢) Frantz Fanon (1) Vindication of the Rights of Women
(d) John Rawls (1v) The Prizon Notebook

Choose the correct option from given below :-

(1) (a)-(111). (b)-(11). (c)-(1v). (d)-(1)
(2) (a)-(111). (b)-(1v). (c)-(1}. (d)-(11)
(3) (a)-(11). (b)-(111). (c)-(1v). (d)-(1)
(4) (a)-(1). (b)-(11). (e)-(111). (d)-(iv)

Options:

61547544769, 1
61547544770 2
61547544771, 5
61547544772 4

Question Number : 118 Question Id : 61547511482 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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ATter1-1 =1 Atterrl-I1 & = =+
GliGEaM|
(fer=m)

(a) T TETEAHTRE (Marv Wollstonecraft)

(b) TMHEN (Gramscl)

(¢) =24 %9 (Frantz Fanon)

(d) = 774 (John Rawls)

FtaiEd § o 78 [9Eed 96

(1) (a)-(111). (b)-(11). (e)-(1v). (d)-(1)
(2) (a)-(111). (B)-(1v). (c)-(1). (d)-(11)
(3) (a)-(11). (b)-(111). (€)-(1v). (d)-(1)

(4) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)}

Options:

61547544769, 1
61547544770, 2
61547544771, 2
61547544772 4

Prepp

ersonal Exams Guide

ATfer1-11

(1) fe =g =% T 99 (The Wretched of th

Earth)

(1)  difeAteHe Gk OGEs (Politica
Liberaliam)

(i) ==EmTA 2% | TsEm wF 9o

(Vindication of the Rights of Women)

(iv) 2 fo=7 7129% (The Prison Notebook)

Question Number : 119 Question 1d : 61547511483 Question Type: MCQ Option Shuffling: No Display Question Number : Y

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Match Last I with List IT :

Prepp

r Personal Exams Guide

List I List IT
(School of Modernization) (Thinkers)
(a) Psychological School (1) Daniel Lerner
(b) Normative School (1) Mahatma Gandh
(c) structural School (im) G.A. Almond
(d) Technological School (iv) Dawnid Apter

Choose the correct answer from below :

(D (a)-(1). (b)-(i1), (c)-(111) and (d)-(iv )
(2) (a)-(11), (b)-(1ii). (¢)-(iv) and (d)-(1)
(3) (a)-(1v). (b)-(11), (c)-(1) and (d)-(111)
(4) (a)-(111). (b)-(1). (c)-(1) and (d)-(1v)

Options:

61547544773, 1
61547544774 2
61547544775 o
61547544776 4

Question Number : 119 Question 1d : 61547511483 Question Type: MCQ Option Shuffling: No Display Question Number : Y«
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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'5“"'5 E T -E =hl d IFE‘ ) -II -'l-:I' h:l iG] T--"T !Per'sﬁEgGug
GlGES | Arfernr-11
(ST =t fa=mem) (ferameen)
(a) HAESHIAE TEETEE (i) =F== =7 (Danial Lerner)
(b) TEHE FEREE (i) FETeRT M
(c) TrEATHS fEERan (i) ST, TS (G.A. Almond)
(d) drEnTERE e (iv) =fas v=t (David Apter)
frafefiga 5 9w fawey =1 =99 =4

D (@-@). (b)-G), (0)-(il) 3R (d)-(v)
2 (a)-@). (b)), (c)-(v) 37 (d)-()
(3)  (a)-(iv). (b)-(ii), (c)-(1) FH (d)-(iii)
@) (a)-(id). (b)-A). (c)-(d) 37 (d)-(iv)

Options:

£1547544773 1
61547544774 2
61547544775 5
61547544776, 4

Question Number : 120 Question Id : 61547511484 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Match List I with the List IT regarding terrorism : 're]pmpd
List I Last IT
(a) Convention on offences and certain (1) 1999
other acts committed on Board
Aircraft (Tokyo)
(b) Convention for suppression of () 1997

unlawful acts against the safety of
Civil Aviation (Montreal)

(¢) International Convention for (m) 1971
suppression of Terrorist Bombing

(d) International Convention for (iv) 1963
Suppression of Financing of Terrorism

Choose the correct options :

(1) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(2) (a)-(1v), (b)-(11). (c)-(11). (d)-(1)
(3) (a)-(1v). (b)-(1 ). (c)-(u1). (d)-(1)
(4) (a)-(11), (b)-(111). (c)-(1v). (d)-(1)

Options:

61547544777, 1
61547544778 2
61547544779 2
61547544730 4

Question Number : 120 Question Id : 61547511484 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Prepp

SATFATE % T gE] # gL % wr g i ; reeronsoue

-1 T=1-11
(2) Tauel ° T IO AUy F HAE 79 FE @) 1999

Hetad Heee (ZreT)

(b) AR femma i men F faeg Tfa fRg wE @) 1997
T Tafaa F=ee (A2 )
(c) mﬁm‘pﬁ Tﬂﬁmﬁ '{FT:I'J?I‘FJ TETE S F': q -f]ll]l 1971

T
(d) =oEERE F EEame GO deEiaa AAEE (v) 1963

(1) (a)-(2). (b)-(11), (c)-(m1). (d)-(1v)
(2) (a)-(xv). (b)-(1). (c)-(). (d)-(2)
(3) (a)-(v). (b)-(1). (c)-(111). (d)-()
(4) (a)-(1), (b)-(1i1), (c)-(iv). (d)-()

Options:
61547544777 1

E1547544778. 2
61547544775, 3
61547544780, 4

Question Number : 121 Question 1d : 61547511485 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Match List I with Last IT -

List I List IT
Organization Number of member states

(a) Economic Community of West African (1) 6

States

(b) South African Development m 12
Community

(¢) Economic Community of Central (m) 16

African States

(d) Eastern African Community (v) 15

Choose the correct options :

{1} fﬂ)—{l:l {EJJ-{L‘L), {C}-{ﬂl} {d}'(lv}
(2) (a)-(1v). (b)-(11). (c)-(1). (d)-(1)
(3) (a)-(1), (b)-(1v), (e)-(111), (d)-(11)
(4) (a)-(m1). (b)-(1v ). (e)-(m). (d)-(1)
Options:

15475447511

1547544782 2

61547544783, 3
61547544754, 4

Question Number : 121 Question Id : 61547511485 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Prepp

g1 1 g=Ai-11 % =y gefea fifae reaoret s e
T Tt I
(&) (wraen gt i wen)
(a) wfz=m srfrefl e =1 i A i 6
(b) =iEA wFrRl T AgEE @ 12
(c) s AEER TP H ANGF THSH (i) 16
(@ i Erh T (iv) 15

(1) (a)-@). (b)-(i1), (e)-(ii). (d)-(iv)
(2) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)
(3) (a)-(1). (b)-(1v). (e)-(ii1). (d)-(11)
(4)  (a)-Gi). (b)-(v ). (¢)-(i1). (d)-(1)

Options:

61547544781, 1
61547544782 2
615475447583 o
61547544734 4

Question Number : 122 Question Id : 61547511486 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Match the following :

(a)

(b)

(c)

(d)

A
Absolute Veto

Qualified Veto

Suspensive Veto

Pocket Veto

Select the rmght code :

(1)
(2)
(3)
(4)

Options:

(a)-(11), (b)-(1). (c)-(111). (d)-(1v)
(a)-(iv). (b)-(111), (c)-(11). (d)-(1)
(a)-(w), (b)-(11). (c)-(1), (d)-(111)
(a)-(11). (b)-(11). (c)-(v). (d)-(1)

51547544785 1
61547544786, 2
61547544757, 3
61547544755, 4

@

(11)

(11)

(1v)

Prepp

r Personal Exams Guide

B

When a bill 1s returned fo
reconsideration

President cannot withhold assent 1
Bill 1z adopted again by the Houses

President may either assent or refus
to give assent without any time limit

Power to say "no” to a bill passed b
both Houses

Question Number : 122 Question Id : 61547511486 Question Type: MCQ Option Shuffling: No Display Question Number : Y

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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f-\ 1: et aﬁ:f E{:l'%lﬂ ’,:. E 1

A

(a) or e

(by FUE e

(¢) TAeitsm =izt

(d) wrRe =@
{1) {a]—(ﬂ}, (b)'(l)= (C}-{lll}, (d}'(lv)
(2) (a)-(iv), (b)-(iii). (c)-(i). (d)-(1)
(3) (a)-(v). (b)-(1), (c)-(1). (d)-(111)
{4} {aj-(]_'l_'l}. {-b}'{ll) {E}-(IV} {d)'(l)

Options:

E1547544785. 1
61547544786, 2
61547544757, 3
61547544758, 4

Prepp

B
@) & v faomw w FHER F fau @t
(i) =fE "wEA g fag=es =+ e TR S
T TP SEAEA T AE T
(ii1) TEArd fe Rt TEE HiE % eEta 2 A
? T -Tﬂ?_-.—jlﬁ T i Hiﬁﬁﬁ T_,—.'I'
(iv) FFT HeAl gET UG TaUEw W SR W

[

Question Number : 123 Question Id : 61547511487 Question Type: MCQ Option Shuffling: No Display Question Number : Y

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Match Last I with Last IT :
List I (Author)
(a) Paul H Appleby

(b) John M Gaus,. L.D. White and
M.E. Dimock

() W.F. Willoughby

(d) Dwight Waldo

Choose the correct option from below :

(1) (a)-(1). (b)-(11), (c)-(111), (d)-(1v)
(2) (a)-(m1). (b)-(1v). (c)-(1). (d)-(11)
(3  (a)-(v). (b)-(1), (c)-(111), (d)-(1)
(4) (a)-(11). (b)-(1). (¢)-(iv), (d)-(iii)

Options:

61547544759, 1

61547544730, 2

E1547544731. 3
E1547544792 4

@
(i)

(111)

(1v)

Prepp

r Personal Exams Guide

List IT (Book)
Principles of Public Administration

Ideas and Issues n Publi

Administration

Morality and Admimstration 1

Democratic Government

The Frontiers of Public Administratio:

Question Number : 123 Question Id : 61547511487 Question Type: MCQ Option Shuffling: No Display Question Number : Y

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1 7 1 % v e e preep
-1 F=-1I
(TEF) (g=)
() Ui TH TTE (@) TuiHTeE w9 it TSI
(b) = UHTE, US S15EC N VNG SHiE (1)  SSSATS US 59 5 diseh TSt
(¢) Teerg.UE, T (i) TR TS USHE2TE 59 SHZS TaHE2
@ ATz s (v) 7 Sfeast @ ufee vsfifeem

frafefga @ @ =@ fages 9o

(1) (a)-0). (b)-(1). (c)-(111). (d)-(1v)
(2)  (a)-@d). (b)-(v). (¢)-(). (d)-(id)
(3 (a)-av). (b)-(1), (o)-(i1d), (d)-1)
4 (a)-@), (b)-(). (c)-(v). (d)-[11)

Options:

61547544759, 1
61547544730 2
61547544731 2
£15475447392 4

Question Number : 124 Question Id : 61547511488 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Match the following :

(a)
(b)
(e)
(d)

A
Two Factor Theory
Hierarchy of needs theory

Theory of needs

Theory X and Y

Choose the correct answer :

(1)
(2)
(3)
(4)

Options:

(a)-(1). (b)-(av). (c)-(111). (d)-(2)
(a)-(u1). (b)-(av). (e)-(). (d)-(1)
(a)-(v). (b)-(). (¢)-(111). (d)-(11)
(a)-(v). (b)-(11). (¢)-(1). (d)-(11)

B1547544793. 1
61547544734 2
61547544735 3
61547544736, 4

@
(11)
(1i1)

(1v)

Prepp

r Personal Exams Guide

B
MeClelland
McGregor
Maslow

Herzherg

Question Number : 124 Question Id : 61547511488 Question Type: MCQ Option Shuffling: No Display Question Number : Y

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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A B
(a) = T g (7 T o) (i) HFS
(b) HAETIFRATAT F USTHA g (FEEEEH (1) HER
(c) HAETIFAT =1 TH2E (iii) T
(d) XY fagea @v) Fe

(1) (a)-(12), (b)-(1v), (e)-(111). (d)-(2)
(2) (a)-(111). (b)-(1v), (c)-(11). (d)-(1)
(3  (a)-Gv). (b)-Q). (e)-(m). (d)-(1)
(4) (a)-(iv). (b)-(111). (c)-(). (d)-(11)

Options:

61547544793, 1
£1547544794 2
61547544735, 5
61547544796 4

Question Number : 125 Question Id : 61547511489 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Prepp

Match the following : ¢ Paranat Exams Guice

A B

(a) Common High Court for two or more (1) Art. 229

states

(b) Transfer of certain cases to High (1) Art. 233
Court

(c) Appointment of District Judges (1) Art. 231

(d) Administrative expenses of High (1v) Art. 228
Courts

Choose the correct options :

1) (a)-(d). (b)-Av). (e)-G). (d)-@)
(2)  (a)-(1), (b)-Gv). ()-(1). (d)-(ii)
(3) (a)-(1v). (b)-(11). (¢)-(1). (d)-(111)
(4)  (a)-(i). (b)-Gi). (e)-(v). (d)-()

Options:
61547544757 1

E1547544738. 2
E15475447395. 3
51547544800, 4

Question Number : 125 Question Id : 61547511489 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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P = g B prepp

ersonal Exams Guide

A B

(a) = T oAfaw T ® fom ouwm oI I= (@) AT=EE-2290

I-' E
(b) AU AT = 3= AT H T (11) -mgﬁ'ﬁ:—zzz
(c) THem =it i e (iil) FT=a5-231
(d) == ==E=E * TEEEE (iv) “FT=32-228

(1) (a)-(111). (b)-(1v). (c)-(1). (d)-(1)
(2) (a)-(m). (b)-(1v). (e)-(1), (d)-(111)
(3)  (a)-Gv). (b)-(11), ()-(1), (d)-(ii)
(4) (a)-(m1). (b)-(12). (c)-(1v). (d)-(2)

Options:

61547544797, 1
61547544738, 2
61547544739 2
61547544800, 4

Question Number : 126 Question Id : 61547511490 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange these 1n a chronological order :

(a) Benn and RS Peters’ Social Principles and Democratic State
(b) John Rawls' A Theory of Justice

(c) Susan Mollerokin's Justice Gender and Famly

(d) Rousseau's Social Contract

Choose the correct option from below :

(1) (d), (b). (a), (c) (2) (a). (d). (b) and (c)
(3) (b). (a). (e) and (d) (4) (c). (b). (d) and (a)
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(a)
(b)
(c)
(d)

=41 F1 ATA FFE

Fr= fou o A @ wE faew 9w

(1)
(3)

Options:

61547544301,
£1547544202,
61547544803,
51547544504,

(d). (). (a). (c) (2) (a). (d). (b) #F (c)
(). (a). (¢) 377 (d) 4 (c). (b). (d) =1 (a)

o LIRS

Question Number : 127 Question Id : 61547511491 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the following Ashrams/Institutions founded by Gandhi in chronological order :

(a)
(b)
(c)
(d)

Phoenix Settlement
Kochrab Ashram
Sevagram Ashram
Tolstoy Farm

Select the correct answer from the options as given below :

(1)
(3)

Options:

(a). (b). (c). (d) (2) (a). (d). (b). (c)
(d). (c). (b), (a) (4) (a). (c). (d). (b)

E1547544505. 1
51547544806, 2
61547544807, 3
515475445808, 4

Question Number : 127 Question 1d : 61547511491 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Prepp

(a) T Heede
(b)  HiEE U
(c)  T=mmm FE
(d)  Z=E wH

Fefefaa fareat o 9 @8 33 9o

(1) (a). (b). (c). (d) (2) (a). (d). (b). (c)

(3) (d), (c). (b). (a) (4) (a). (c). (d). (b)
Options:

£15475445805. 1
61547544806, 2
61547544807, 3
61547544808, 4

Question Number : 128 Question Id : 61547511492 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Arrange the following books as per the vear of their publication 1n chronological order :

(a) Modern Democracies

(b) Constitutional Government and Democracy
(c) Public Opimion and Popular Government
(d) The American Commonwealth

Choose the correct option from below :

(1) (a). (b). (c) and (d) (2) (d). (c). (a) and (b)
(3) (d). (a). (b) and (c) (4) (a). (c). (d) and (b)
Options:

E1547544509. 1
61547544810, 2
615475445811, 3
61547544812 4

Question Number : 128 Question Id : 61547511492 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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o o 2 e 7w PISRe
(@)  wTS ST

(b) qﬁﬂ;ﬁ%ﬂﬁFﬁﬁ‘Fiﬁﬁz'ﬁg-%ﬁﬁﬁFﬁ

(c)  few MU UF Tiger Ta-HE

(d) = EfEFT wEEEY

ffetEas & =2 fases gfhw

(1) (a). (b). (c) 77 (d) (2 (d). (). (a) 7 (b)
(3  (d), (a). (b) IR (c) 4 (). (). (d) = (b)
Options:

61547544509, 1
615475445810, 2
E1547544811. 3
E154754481%2. 4

Question Number : 129 Question Id : 61547511493 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following of UN system in their chronoclogical order :
(1) International Bank for Reconstruction and Development
(11) Multilateral Investment Guarantee Agency

(m1) International Finance Corporation
(tv)  International Development Association

Choose the correct option :

(1) (1v). (1), (11). (1) (2) (D). (). (1v). (1)
(3) (1), (1), (1), (m1) (4) (1), (v), (1), (1)
Options:

E15475445813. 1
61547544814, 2
615475445815 3
61547544816, 4

Question Number : 129 Question Id : 61547511493 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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FeAfetEa Tgw g =E (UN System) &1 FFAHAR =aE9d 1 ; 'repmp
(iii) HA-wgE T
(iv) AP fawmE Ta

TE TaFeT =1 =949 =

(1) l[iv). (111). {ii}. {i} (2) {i}. {:i_ii)_. (1v), (ii]l
(3 (). (), (1), (1) (4) (), (), (1), (1)
Options:

E15475445813. 1
E1547544814. 2
61547544815 3
61547544516, 4

Question Number : 130 Question Id : 61547511494 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Arrange the following Institutions / Orgamzations in chronological order :

(1) BRICS Development Bank

(11) IBSA
() G-7
(1v) G-20

Choose the correct option :

(1) {(111). (1v). (11). (1) (2) (1. (11). (111). (1v)
(3) (1v), (11). (11). (1) (4) (). (). (av). (1)
Options:

E15475445817. 1
E1547544818. 2
51547544819, 3
61547544820, 4

Question Number : 130 Question 1d : 61547511494 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0O
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ATeEs FEeeT [FTEAT F FAHAEAE, Sagd prepp

(1) forra Saewe o
(i) 3 it T U (IBSA)
()  F-7 (G-T)

(iv)  Sf-20 (G-20)

(1) (111). (1v). (11). (1) (2) (1) (11). (111). (1)
(3) (1v). (111). (11). (1) (4) (). (1), (1w). (1)
Options:

E1547544817. 1
61547544818, 2
615475445819 3
61547544820, 4

Question Number : 131 Question Id : 61547511495 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the following in their chronological order :

(a) Jalianwala Bagh Massacre

(b) Report Submission by Hunter Committee

(c) Chauri-Chaura incident

(d) Establishment of Swaraj Party

Choose the correct option :

(1) (a). (b). (c). (d) (2) (d). (c). (b). (a)

(3) (a). (b). (d), (c) (4) (d). (b). (a). (c)
Options:

51547544821, 1
615475448272 2
61547544823 3
615475445824, 4

Question Number : 131 Question Id : 61547511495 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) HA=ATAT AT THER
(b) ﬁETIﬁﬁﬁfgﬁrﬁﬁﬁfﬂpjﬁqﬂm
(€ = = wE
(d) == TE A T

Prepp

ersonal Exams Guide

T2 TaFey =1 =99 #1 :

(1) (a). (b). (c). (d) (2)  (d). (e). (b). (a)
(3) (a). (b). (d). (c) (4) (d). (b). (a). (c)
Options:

615475445821, 1
E1547544822. 2
E1547544823. 3
61547544824, 4

Question Number : 132 Question Id : 61547511496 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the formation of following states in chronological order :

(a) Sikkim
(b) Goa
(c) Gujarat

(d) Telangana

Choose the correct option :

(1) (a). (b). (c) and (d) (2) (d). (b). (c) and (a)
(3) (b). (c). (a) and (d) (4) (c).(a). (b) and (d)
Options:

61547544825 1
61547544826, 2
61547544827, 3
E1547544825. 4

Question Number : 132 Question Id : 61547511496 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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=41 = T34 =l FAFATHE T 00d T 'repmp
(a) Taf=Em
(b) T
(c) ERD
(d)  FerTE
Tl e = =E
(1) (a). (). (c) 7= (d) (2)  (d). (B). (c) ™3 (a)
(3) (b, (c). (a) TF (d) (4)  (¢). (a). (b) ™= (d)
Options:

E1547544825. 1
E1547544826. 2
61547544827, 3
61547544825, 4

Question Number : 133 Question 1d : 61547511497 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Make a sequence of Decision-making approach :

(a) Search for information
(b) Problem recognition

(c) Selection of alternative
(d) Definition of alternative

Select the right option :

(1) (a). (c). (d), (b) (2)  (b). (d). (a). (c)
(3) (b). (a). (c). (d) (4) (b). (a). (d). (c)
Options:

E1547544829. 1
61547544820, 2
615475445821, 3
61547544832, 4

Question Number : 133 Question Id : 61547511497 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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()  H e W
(b)  THEH W TEAH
(c)  Toed 1 =7H
(d)  Taeg =i afram

(1) (a). (c). (d). (b) (2)  (b). (d). (a). (c)
(3) (b). (a). (c). (d) (4) (b). (a). (d). (c)
Options:

61547544829 1
E15475445820. 2
E1547544821. 3
51547544832, 4

Question Number : 134 Question Id : 61547511498 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Arrange the following in an ascending chronological order :

(a) Right to Education Act

(b) Consumer Protection (Amendment) Act
(c) Food Security Act
(d) Prevention of Corruption (Amendment) Act

Choose the correct option from below :

(1) (b). (c). (d) and (a) (2) (b). (a). (e¢) and (d)
(3) (a). (b). (c) and (d) (4) (e). (a). (d) and (b)
Options:

61547544833, 1
E15475445834. 2
E1547544835. 3
51547544836, 4

Question Number : 134 Question Id : 61547511498 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Your Personal Exams Guide

(a)
(b)

ToTeqT 1 HATIRN Fa I
TN THa (FEreE) st

(c) =ed gl A
) s fE () St

[ o - o -
HeARgd § 9 H51 969 F 999 HW

(1) (b). (). (d) ™= (a) (2)  (b). (a). (¢) T (d)
(3)  (a). (b). (c) T (d) (4) (e). (a). (d) T (b)
Options:

E15475445823. 1
61547544824, 2
615475445835 3
61547544836, 4

Question Number : 135 Question 1d : 61547511499 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Arrange the following four reports of Second Admimstrative Reforms Commission 1n the
sequential order :

(a) Right to Information

(b) Unlocking Human capital

(c) Crisis Management

(d) Ethics in Governance

Choose the correct option :

(1)  (a). (). (c). (d) (2)  (d). (e). (b). (a)

(3) (a). (d). (b), (c) (4) (). (a). (d). (b)
Options:

E15475445837. 1
E1547544838. 2
51547544839, 3
61547544540, 4

Question Number : 135 Question 1d : 61547511499 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0O
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fadm womat= gaw smm =i fFetafag =n el 0 3 s #9 83 ==fem =+ 'repmp
()  TEAT F AGFER

(b) WA YT G HAT

() T TEEA

(d)  ImET g Afaewar

(1) (a). (b). (c). (d) (2) (d). (0). (b). (a)
(3)  (a) (d). (b). () (4) (c). (a). (d). (b)
Options:

51547544837, 1
61547544828, 2
61547544839, 3
61547544540, 4

Question Number : 136 Question Id : 61547511500 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two statements, one labelled as Assertion (A) and the other labelled a

Reason (R) :
Assertion (A) : Anristotle was the first thinker to adopt inductive method but it wa
accidental

Reason (R) : In case of Machiavelli use of Inductive method was intentional

Choose the correct option :

(1) Both (A) and (R) are correct and (R) 1s correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1= not correct explanation of (A)
(3) (A) 18 true but (R) 1s false

(4) (A) 1s false but (R)1s true
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Correct Marks: 2 WrongMarks: 0 'repp

:ﬁ% ;I;IT : [ . '?]:I' 'i-;IJ;'D: Tl':g’ +—'ln' a-.J - é’ ﬁ T—J[ - i: D_]—._I' {A-} 3:“1_ #l- _d% {R] m -r:r_q-l- T:_,.-l- ; our Personal Exams Guide

AFFT (A) S UH w9 T 9 R sIEATensE ugia o Ao e T8 sarRte o)
T (R) : TRl & BT H STRTHATCH UGl & TET s [ T o

(1) (A) 3 (R) 2H1 T8t & 997 (R). (A) F1 781 == 2|
2  (A) 3 (R) IF TF E S R). (A) Fi HE = A6 2
(3) (A FEE, A (R) T4 7

(4  (A) 7T 7, oA (R) 78 7

Options:

61547544541, 1
61547544842 2
61547544542 5
61547544544 4

Question Number : 137 Question Id : 61547511501 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Given below are the two statements. one labelled as Assertion (A). and the Dthenul&b&ﬁga

Reason (R) :

Assertion (A) : According to Plato, human soul consists of three elements — Reason. spir
and aptitude

Reason (R) : The state 1s the individual writ large

Choose the correct option :

(1) Both (A) and (R) are true and (R) 1= the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not correct explanation of (4)
(3 (A) 18 true but (R) 1s false

(4) (A) 12 false but (R) 1s true

Options:

61547544545, 1
61547544846 2
61547544847 =
61547544545 4

Question Number : 137 Question 1d : 61547511501 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



www.prepp.in

prepp

V%v Personal Exams Guide

it 21 arfupyE for @ 7 590 @ w0 Afases (A) & =9 9 vd 99 F a6 (R) Far A

AT (A) : T2l % FTER B i AT § dF 92 2 & - T, "Ed A |
7% (R) : =49 =iF 1 =02 = 7|

Tl TaFed = 999

(1)  (A) 3R (R) T4 T & 997 (R), (A) F1 =& =0z 2

(2) () 3R (R) 2 @7 # @ (R). (A) F 771 =me 771 2|
(3) (AT 2, @A (R) Tem 2

(4) (A TE R, @A (R) B9 2

Options:

61547544545, 1
61547544846, 2
61547544847 =
61547544545 4

Question Number : 138 Question 1d : 61547511502 Question Type: MCQ Option Shuffling: No Display Question Number : Y«
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Two statements are given below. One 1= a Assertion (A) and the other 1s Reason (R) :

Assertion (4):  United Nations Organisation was established on 24 October 1945

Reason (R) : Its main object 1= to establish world peace and secunrty

Choose the correct options :



S proppin prepp
15475445459 1 Your Personal Exams Guide
C1547544850. 2
1547544551 2

E1547544852. 4

Question Number : 138 Question Id : 61547511502 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

St 77 afused for @ 2 590 9 wF 1 @fqsee (A) vd 7 F a6 (R) FE TR

ATFIA (A) : HIF T TE i FATE 24 FFE 1945 2 o)
7% (R) : SHT YA 3274 fava Iied Ud T AT TG R

T2 faweT = 991

(1) (A) 37 (R) =21 9751 7 41 (R), (A) 1 =75 =3 7
(2 (A) 3R (R) 341 T51 2 @t (R). (A) i 98t == 951 2|
3 (A)TH 2, @ ®) o

(4)  (A)7=d B, w4 (R) 991 2

Options:

51547544549, 1
61547544850 2
61547544551 =2
61547544852 4

Question Number : 139 Question Id : 61547511503 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Two statements are given below. One 1s Assertion (A) and other 1s Reason (R) :  veurreronoicamscuise

Assertion (A) : Shimla Pact was signed by India and Pakistan in 1972

Reason (R) : It provides that the two countries will solve thewr disputes throug

mediation of other countries

Choose the correct options :

(1)
(2)
(3)

(4)

Options:

Both (A) and (R) are correct and (R) 1s correct explanation of (4)
Both (A) and (R) are correct but (R) 1= not correct explanation of (A)
(A) 1s correct but (R) 1s wrong

(A) 18 wrong but (R) 1= correct

E1547544853. 1
E1547544854. 2
61547544855, 3
61547544856, 4

Question Number : 139 Question 1d : 61547511503 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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= 31 aafaepo fon w1 2; T5od o v 1 sfase (A) 2 3 200 F1 a5 (R) &l T 8 ¢ oreenemese

ATHF (A) : UWA 9 T | e gugE 9 1972 § weaew e 9|

TF (R) : 30 GAFIG 0 AT T 2 R 3E 39 s faEne w0 ot e i qemea § gesn

D) (@) s ®) 3 = E, T R), (A) F = = 2
(2 () R ®) A FE 7, T (R). (A) FFE = @ o
(3 (A=A 7, @A R) TeE R

4) (A 7TeE 7, @A (R) 991 7

Options:

£15475445853 1
61547544554, 2
61547544855 5
61547544856, 4

Question Number : 140 Question Id : 61547511504 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Two statements are given below. One 1s Assertion (A) and other 1s Reason (R) : 'repp

ersonal Exams Guide

Assertion (A):  Herbert Simon rejected Principles of Administration

Reason (R) : For Simon. these are merely proverbs
Choose the correct options :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s not correct explanation of (A)
(3) (A) 1= true, but (R) 1s false

(4) (A) 1s false, but (R) 1s true

Options:

61547544857, 1
61547544858 2
61547544859 =
61547544860 4

Question Number : 140 Question Id : 61547511504 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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ﬁmﬁﬁﬁﬂ ':Iq':l- m ]-:[ -.E{ U.T-E -m?ﬂ {J_ﬂj_} a’ .'_:':.PT[ HT-'Fr.I (R} %’r : Your Personal Exams Guide
ATHYA (A) : =79 HTEEA 3§ WA * Tagret # w fEar an)
@ (R) : HEEA F AIET, A FAe ATRIEAT 2

I H @ FA e =

1) (&) 3R ®) A FA 2 391 R). (A) Fi =7 =0 2

(2)  (A) =R (R)TF FA 7, @A R). (A) Fi 771 =men T4 2

(3) (A TH 2, @ (R) T 7
@)  (A)TEm 7, T (R) 79 7

Options:

61547544857, 1
61547544858 2
61547544859 =
61547544560 4

Sub-Section Number: 2
Sub-Section 1d: 615475495
Question Shuffling Allowed : Yes

Question Id : 61547511505 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuestion Label @ Comprehension

Read the passage and answer the questions (91-95) :

PR el T R s R R A s e R L R T o iy o S s e e e SR s o A vl L B e e ST e s e - S A R e N e e e R
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Question Number : 141 Question Id : 61547511506 Question Type: MCQ Option Shuffling: No Display Question Nuriyers:<y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 13 Post Modernist thinker?

(1) Jacques Derrida (2) Immanue]l Kant
(3) H.J. Lask (4) Karl Deutsch
Options:

615475445861, 1
61547544862, 2
E1547544863. 3
E1547544864. 4

Question Number : 142 Question Id : 61547511507 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following i1s not a Post Modernist thinker?

(1) Richard Ashly (2) dJenny Adkins
(3) Michel Foucault (4) J. Burton
Options:

61547544565, 1
61547544866, 2
E1547544867. 3
E1547544865. 4

Question Number : 143 Question Id : 61547511508 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Post-Modernist thinker. which attribute of knowledge does not exist?

(1) Normative (2) Cognitive
(3) Political (4) Objectivity
Options:

E1547544586%9. 1
61547544870, 2

E154r544571. 3
SC1CATEAARTD A
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Which of following term 1s not preferred by Post Modernist thinkers? our Perscnal xamme auids
(1) Post structuralism (2) Deconstruction
(3) Modernism (4) Subjectivity

Options:

E1547544873. 1
B1547544874. 2
61547544875 3
61547544876, 4

Question Number : 145 Question 1d : 61547511510 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following statement 1s incorrect according to Post Modermist thinkers?

(1) Post Modernners challenged the notion that knowledge 1s eternal
(2) Enowledge 1s linked to power

(3) Enowledge leads to progress of world

(4) No knowledge 1s impartial

Options:

615475445377, 1
61547544878 2
61547544579, 5
61547544880, 4

Question Id : 61547511505 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cesticn Label | Comprehension

TreAteAtas e 1 9ieu. 37 wIAl % I A (91-95)

AYHFRAENSAl F FTEE TH A Fad UF GAFEE FF 7 Gfod 79 G (AEfe) #{i aEditas
2| T A T E=EE B9 T TEART 8, AN UeEsd: U 35 o gEe 2| S g et
SERATEA & Y- TASENS O SHErEE 7 o Sequd 3 G A dga W favam e 9| 5w
FYFATETEl 9 5 (lenses) H oA @A A1 TG =R H @A WA 2
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FEfefEd § O #4393 gHwaEE) fa=ms 27 'repmp
(1) SFE 2] (2) THAFA F2
(8)  TAS. Al (4) e =

Options:

615475445861, 1
61547544862, 2
E1547544863. 3
E1547544864. 4

Question Number : 142 Question Id : 61547511507 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fferfga & & #i sTengmaad fa=ms 7 27

(1)  f=s ugE (2) I TSR
(3)  AEFA FHI (4) . =

Options:

615475445865, 1
61547544866, 2
61547544867, o
61547544568, 4

Question Number : 143 Question 1d : 61547511508 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

I SFATETE] TT=TeR F SET T F EE F1 O e T A

(1) =R (AHTeE) (2) TFAATEF
(3)  UsHilGH (4) =g
Options:

61547544569, 1
E1547544870. 2
E1547544871. 3
61547544872, 4
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freieTiiad w8 o & 60 37 snyfeRarare) grn ST A R ST 2 7 vourprsonet o i
(1) T HIEATCHRATERE (2) TE=T= (Deconstruction)
(3) AT FATER (4) sTeATEAERE (Subjectivity)

Options:

61547544873, 1
E1547544874. 2
E1547544875. 3
B1547544876. 4

Question Number : 145 Question Id : 61547511510 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T AT % A9EE Fefaigs 9 8 #=9 @1 FY9 T 2 7

(1)  37R STYMwararel 4 8 90T i =HEl 2l 56 [E Iead 2
(2) 9 = OH T R
@) s o 3 Fe TE w

Options:

61547544877, 1
61547544878, 2
61547544879 2
61547544880 4

Sub-Section Number: 3
Sub-Section 1d: 615475496
Question Shuffling Allowed : Yes

Question Id : 61547511511 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuestion Label © Comprehension
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Read the passage and answer the questions (96-100) : Y'Pr e,Epmg
The term “globalisation” primarily refers to economic activities like trade. movement of
capital, goods, labour and communication system across boundaries facilitating higher levels
of interconnectedness 1n the world. These economic activities have greater impact on soclo-
political sectors nationally and internationally. The increasing strong presence of non-state
actors like MNCs, the NGOs and IGOs has questioned the supremacy of state sovereignty.
The rich states are benefited due to their superior control over the flow of capital. technology
and communication system. A profit oriented global market can never think of benefit of all
people of the world. The North-South divide has not been obliterated.

Sub questions

Question Number : 146 Question Id : 61547511512 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Globalisation has benefited the countries of :

(1) Europe and America (2) Asia
(3) Africa (4) Latin Amereca
Options:

E1547544881. 1
61547544882, 2
61547544883, 3
615475445854, 4

Question Number : 147 Question 1d : 61547511513 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Globalisation has induced greater:

(1) Urbanisation (2) Tradition
(3) Rural societies (4) Parochial culture
Options:

E1547544885. 1
51547544886, 2
61547544887, 3
615475448558, 4

Question Number 148 Question Id : 61547511514 Queﬂlon Type MCQ Option Shuffling : No Display Question Number : Y

~ 1 _ 1 " P Y L Y S Y S T L
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61547544889 1 prepp

6154?54489[:' 2 Your Personal Exams Guide
615475445831, 3
61547544832, 4

Question Number : 149 Question Id : 61547511515 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The globahsation has increased the demand for

(1) Laissez Faire state (2) Welfare state
(3) Totalitarian state (4) Socialistic state
Options:

6154754458393, 1
61547544834, 2
E1547544835. 3
E15475448396. 4

Question Number : 150 Question Id : 61547511516 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which one of the following 1s incorrect?

The state has become weak 1n shaping the

(1) Flow of capital (2) International trade and labour
(3) Finance (4) Collection of revenues
Options:

E15475448597. 1
61547544838, 2
615475445899, 3
61547544300, 4

Question Id : 61547511511 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

TeAferiigd T 1 9ie 37 uvAl % 39 Sian) (96-100) |

Ao A0 9% T Thd [Gva § S Hadl (S2EAEIEA) % 3= W0 6 O S Jretl Sl # O
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Question Number : 146 Question Id : 61547511512 Question Type: MCQ Option Shuffling: No Display Question"Nuriyers:<y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AR = f=feiaa 3 @ Fa % 290 F 9 T 27

(1) I A (2) ufeEn

(3) AT (4) AT T
Options:

E1547544851. 1
61547544882, 2
61547544883, 3
61547544854, 4

Question Number : 147 Question Id : 61547511513 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ayt A Fafatag 8 9 e = s1iaes of fF 27

(1) =i (2) T
(3) i TAS (4) TF HHA
Options:

615475445885, 1
61547544886, 2
E1547544887. 3
E15475448858. 4

Question Number : 148 Question Id : 61547511514 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g § & P T wene 1 i T Fr 27

(1)  ==dE e (2) ¥7F: TR T
(3)  T-HTEE T (4) AA-TaFr (TATEE) e A
Options:

61547544855, 1
615475445390 2
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Ay 4 fafafiag § o g &1 9f = gem 27

(1) ATl U (2) FeaTERRT T
(3)  HEgFEEE T (4) TETHAE! T
Options:

615475448393, 1
E15475445834. 2
51547544835, 3
51547544896, 4

Question Number : 150 Question Id : 61547511516 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fafafas 5 & F ar o5 95 27

T Featas § O Froew R o4 O FOSi 5 T 27

1) T W TEE (2)  FFIEE =R 3T gH
(3) == (4) T T
Options:

E1547544897. 1
E15475448398. 2
615475448595, 3
61547544300, 4



